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PARABOLA

Illustration

1. The equation of conic section whose focus is at

(-1 , 0), directrix is the 4x-3y+2=0 and eccentricity

1, is1/√2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BBh8IRxiUyE3


A. 

B. 

C. 

D. none of these.

Answer: A

Watch Video Solution

34x2 + 41y2 + 24xy + 84x + 12y + 46 = 0

34x2 + 41y2 − 24xy + 84x + 12y + 46 = 0

34x2 + 41y2 − 24xy − 84x − 12y + 46 = 0

2. The conic represented by the equation

 is

A. Pair of straight lines

x2 + y2 − 2xy + 20x + 10 = 0,

https://dl.doubtnut.com/l/_BBh8IRxiUyE3
https://dl.doubtnut.com/l/_Mx4yWn4I8ohQ


B. Circle

C. Paraabola

D. Ellipse

Answer: C

Watch Video Solution

3. The curve described parametrically by


, and 
represents.
 (a)

a pair of straight lines
(b) an ellipse
 (c) a parabola

(d) a hyperbola

x = t2 + t + 1 y = t2 − t + 1

https://dl.doubtnut.com/l/_Mx4yWn4I8ohQ
https://dl.doubtnut.com/l/_IUXgx1ub4KPH


A. a circle

B. a parabola

C. an ellipse

D. a pair of straight lines

Answer: B

Watch Video Solution

4. The equation

represents
a. a circle b. a parabola c. an ellipse d. a

hyperbola

16x2 + y2 + 8xy − 74x − 78y + 212 = 0

https://dl.doubtnut.com/l/_IUXgx1ub4KPH
https://dl.doubtnut.com/l/_iNy07SmnQ91S


A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

5. Find the centre of the conic 

A. (2, 3)

14x2 − 4xy + 11y2 − 44x − 58y + 71 = 0

https://dl.doubtnut.com/l/_iNy07SmnQ91S
https://dl.doubtnut.com/l/_DmOCCG715KTQ


B. (-2, 3)

C. (3, 2)

D. none of these

Answer: A

Watch Video Solution

6. If the focus of a parabola is (0,-3) and its directrix

is y=3, then its equation is

A. 

B. 

x2 = − 12y

x2 = 12y

https://dl.doubtnut.com/l/_DmOCCG715KTQ
https://dl.doubtnut.com/l/_Xuvs6YJK5lb7


C. 

D. 

Answer: A

Watch Video Solution

y2 = − 12x

y2 = 112x

7. The equation of the parabola with focus (3, 0)

and directrix y = -3 is

A. 

B. 

C. 

y2 = 12x

y2 = − 12x

x2 = 12y

https://dl.doubtnut.com/l/_Xuvs6YJK5lb7
https://dl.doubtnut.com/l/_ob7BuSPxsgVR


D. 

Answer: A

Watch Video Solution

x2 = − 12y

8. The equation of the directrix of the parabola

 is

A. 3x+4y=0

B. 3x+4y-1=0

C. 4x-3y=0

D. 3x+4y+1=0

25{(x − 2)2 + (y + 5)2} = (3x + 4y − 1)2,

https://dl.doubtnut.com/l/_ob7BuSPxsgVR
https://dl.doubtnut.com/l/_rsC4jXRVAkGD


Answer: B

Watch Video Solution

9. The length of the latusrectum of the parabola

 is

A. 2a

B. 

C. 4a

D. 

Answer: B

2{(x − a)2 + (y − a)2} = (x + y)2,

2√2a

√2a

https://dl.doubtnut.com/l/_rsC4jXRVAkGD
https://dl.doubtnut.com/l/_lDWARlDZLGwX


Watch Video Solution

10. The vertex of the parabola

 is at

A. (1, 1)

B. (-1, -1)

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 2xy − 4x − 4y + 4 = 0

( , )
1

2

1

2

https://dl.doubtnut.com/l/_lDWARlDZLGwX
https://dl.doubtnut.com/l/_8KNaIGNG9Y87


11. The vertex of a parabola is the point (a,b) and

latusrectum is of length . If the axis of the

parabola is along the positive direction of y-axis,

then its equation is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l

(x + a)2 = (2y − 2b)
l

2

(x − a)2 = (2y − 2b)
l

2

(x + a)2 = (2y − 2b)
l

4

(x − a)2 = (2y − 2b)
l

8

https://dl.doubtnut.com/l/_jGZ8eU13h4OZ


12. The equation of the parabola whose vertex and

focus lie on the axis of 
 at distances 
 and 

from the origin, respectively, is
(a) 

(b) 
 (c) 


(d) 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x a a1

y2 − 4(a1 − a)x

y2 − 4(a1 − a)(x − a)

y2 − 4(a1 − a)(x − a) none

y2 = 4(a1 − a)x

y2 = 4(a1 − a)(x − a)

y2 = 4(a1 − a)(x − a1)

https://dl.doubtnut.com/l/_rz49b37wvenH


13. If the parabola of  passes through the

point (3,2), find the length of its latus rectum.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

2

3

4
3

1

3

4

https://dl.doubtnut.com/l/_rz49b37wvenH
https://dl.doubtnut.com/l/_fBRmo4zqgraQ
https://dl.doubtnut.com/l/_jteBORTxsewn


14. The locus of the vertices of the family of

parabolas  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = + − 2a
a3x2

3

a2x

2

xy =
105

64

xy =
3

4

xy =
35

16

xy =
64
105

https://dl.doubtnut.com/l/_jteBORTxsewn


15. If 
 and the line 

passes through the
 points of intersection of the

parabolas 
 and 
 then





none of these

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a ≠ 0 2bx + 3cy + 4d = 0

y2 = 4ax x2 = 4ay,

d2 + (2b + 3c)2 = 0 d2 + (3b + 2c)2 = 0

d2 + (2b − 3c)2 = 0

d2 + (2b − 3c)2 = 0

d2 + (3b + 2c)2 = 0

d2 + (3b − 2c)2 = 0

d2 + (3b + 2c)2 = 0

https://dl.doubtnut.com/l/_eJhqQ6HXEQKs


16. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = y

x2 = 2y

y2 = x

x2 = 2y

https://dl.doubtnut.com/l/_eJhqQ6HXEQKs
https://dl.doubtnut.com/l/_WtXHmnN7O5Wy


17. Find the coordinates of any point on the

parabola whose focus is (0, 1)
 and directrix is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + 2 = 0

(t2 + 1, 2t − 1)

(t2 + 1, 2t + 1)

(t2, 2t)

(t2 − 1, 2t + 1)

https://dl.doubtnut.com/l/_RUXMMBLalmf0
https://dl.doubtnut.com/l/_gcPPAc833mUf


18. The vertex of the parabola

 is (i) 
 (ii)

(iii)

A. (-4, 1)

B. (4, -1)

C. (-4, -1)

D. (4, 1)

Answer: A

Watch Video Solution

x2 + 8x + 12y + 4 = 0 ( − 4, 1) (4, − 1)

( − 4, − 1)

https://dl.doubtnut.com/l/_gcPPAc833mUf


19. The focus of the parabola

 is,

A. (1, 1)

B. (1, 2)

C. (2, 1)

D. (2, 2)

Answer: D

Watch Video Solution

y2 − 4y − 8x + 4 = 0

https://dl.doubtnut.com/l/_qzkGscXD9xjH


20. The axis of the parabola

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9y2 − 16x − 12y − 57 = 0

3y = 2

x + 3y = 3

2x = 3

y = 3

https://dl.doubtnut.com/l/_9BAQC6jesMXp


21. Prove that the equation of the parabola whose

focus is (0, 0) and tangent at the vertex is

 is 

.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − y + 1 = 0

x2 + y2 + 2xy − 4x + 4y − 4 = 0

x2 + y2 − 2xy − 4x + 4y − 4 = 0

x2 + y2 − 2xy + 4x − 4y − 4 = 0

x2 + y2 + 2xy − 4x + 4y − 4 = 0

x2 + y2 + 2xy − 4x − 4y + 4 = 0

https://dl.doubtnut.com/l/_ZQFZTJ3vY0TT


22. The equation of the parabola with its vertex at

(1, 1) and focus at (3, 1) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − 3)2 = 8(y − 1)

(y − 1)2 = 8(x − 1)

(y − 1)2 = 8(x − 3)

(x − 1)2 = 8(y − 1)

https://dl.doubtnut.com/l/_MtqJkqfkrg7f


23. The focus of the parabola 

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 − x − 2y + 2 = 0

(1/4, 0)

(1/2)

(3/4, 1)

(5/4, 1)

https://dl.doubtnut.com/l/_VmgLegVvRI9Y


24. about to only mathematics

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3nvWDC8VrI54


25. If the length of the latus rectum rectum of the

parabola 

 is

L then the value of 13L/4 is _________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

169{(x − 1)2 + (y − 3)2} = (5x − 12y + 17)2

14
13

28

13

12

13

48
13

https://dl.doubtnut.com/l/_8gdwHjK7hMql


26. If (0, 3) and (0, 2) are respectively the vertex and

focus of a parabola, then its equation, is

Watch Video Solution

27. If V and S are respectively the vertex and focus

of the parabola 
 then 


a. 2 b. 1/2 c. 1 d. none of these

A. 2

B. 43467

C. 1

y2 + 6y + 2x + 5 = 0,

SV =

https://dl.doubtnut.com/l/_eWD294zrs6ib
https://dl.doubtnut.com/l/_QTDzMxHtAr8C


D. none of these

Answer: B

Watch Video Solution

28. about to only mathematics

A. y=0

B. x=1

C. y= -1

D. x = -1

https://dl.doubtnut.com/l/_QTDzMxHtAr8C
https://dl.doubtnut.com/l/_3UDtiV3doxpO


Answer: C

Watch Video Solution

29. The equation of the directrix of the parabola

whose vertex and focus are
 (1,4) and (2,6)

respectively is
 
 b. 
 c. 


d. 

A. x+2y=4

B. x-y=3

C. 2x+y=5

D. x+3y=8

x + 2y = 4 x − y = 3

2x + y = 5 x + 3y = 8

https://dl.doubtnut.com/l/_3UDtiV3doxpO
https://dl.doubtnut.com/l/_qhPNKHQRHJ6m


Answer: A

Watch Video Solution

30. If a parabola has the origin as its focus and the

line x = 2 as the directrix, then the coordinates of

the vertex of the parabola are

A. (0, 1)

B. (2, 0)

C. (0, 2)

D. (1, 0)

https://dl.doubtnut.com/l/_qhPNKHQRHJ6m
https://dl.doubtnut.com/l/_xTnxq8bSSEbi


Answer: D

Watch Video Solution

31. The length of the chord of the parabola

 passing through the vertex and having

slope (a>0)`:

A. 2 a cosec  cot 

B. 

C. 

D. 

x2 = 4ay

tanαis

α α

4a tanα secα

4a cosα cot α

4a sinα tanα

https://dl.doubtnut.com/l/_xTnxq8bSSEbi
https://dl.doubtnut.com/l/_HstnQnsYk5sB


Answer: A

Watch Video Solution

32. Write the length of het chord of the parabola


 which passes through the vertex and in

inclined to the axis at 
.

A. 

B. 

C. 

D. none of these

y2 = 4ax

π

4

4√2a

2√2a

√2a

https://dl.doubtnut.com/l/_HstnQnsYk5sB
https://dl.doubtnut.com/l/_zEjl9WcWcR40


Answer: A

Watch Video Solution

33. Area of the triangle formed by the threepoints

 on  is 

 then 

A. a

B. a^(2)

C. `a^(2)/2

D. 1/4a^(2)

' t1' . ' t2' and ' t3' y2 = 4ax

K|(t1 − t2)(t2 − t3)(t3 − t1)| K =

https://dl.doubtnut.com/l/_zEjl9WcWcR40
https://dl.doubtnut.com/l/_4Y9QRUWTKduz


Answer: B

Watch Video Solution

34. The point 
 is an interior point of the

region bounded by the parabola 
and the

double ordinate through the focus. then find the

values of 

A. 

B. 

C. 

D. 

(a, 2a)

y2 = 16x

a.

a ∈ ( − ∞, 4)

a ∈ (0, 4)

a ∈ (0, 2)

a ∈ (4, ∞)

https://dl.doubtnut.com/l/_4Y9QRUWTKduz
https://dl.doubtnut.com/l/_KyNynNy4Dvi9


Answer: B

Watch Video Solution

35. Find the set of values of  in the interval [

], for which the point ( )does not

exist outside the parabola 

A. 

B. 

C. 

D. 

α

, 3
π

2

π

2
sinα, cosα

2y2 + x − 2 = 0

[π/2, 5π/6]

[π, 3π/2]

[π/2, 5π/6] ∪ [π, 3π/2]

[5π/6, 3π/2]

https://dl.doubtnut.com/l/_KyNynNy4Dvi9
https://dl.doubtnut.com/l/_M1otgdY3MH6f


Answer: C

Watch Video Solution

36. If  be a point interior to the region

of the parabola  bounded by the chord

joining the points , then the

set of all possible real values of a is

A. 

B. 

C. 

D. 

(a2, a − 2)

y2 = 2x

(2, 2) and (8, − 4)

( − 2, √2)

( − 3, 2)

( − 2, 2√2)

( − 2, − 2 + √2)

https://dl.doubtnut.com/l/_M1otgdY3MH6f
https://dl.doubtnut.com/l/_fCFmWI1bynG9


Answer: D

Watch Video Solution

37. If  lies in the interior (smaller

region) bounded by the circle  and the

parabola , then

A. (-1, 3/5)

B. 

C. 

D. none of these

( − 2a, a + 1)

x2 + y2 = 4

y2 = 4ax

( − 1, − 5 + 2√6)

( − 5 − 2√6, − 5 + 2√6)

https://dl.doubtnut.com/l/_fCFmWI1bynG9
https://dl.doubtnut.com/l/_InKGGha2u3t5


Answer: B

Watch Video Solution

38. If the chord joining the points and  on the

parabola  subtends a right angle at its

vertex then 

A. 0

B. -4

C. -1

D. 2

t1 t2

y2 = 4ax

t1t2 =

https://dl.doubtnut.com/l/_InKGGha2u3t5
https://dl.doubtnut.com/l/_cgfGZRmE7J2O


Answer: B

Watch Video Solution

39. If 
 is at an end of a focal chord of the

parabola 
then find the other end of the

chord.

A. (32, 32)

B. (32, -32)

C. (-2, 8)

D. none of these

(2, − 8)

y2 = 32x,

https://dl.doubtnut.com/l/_cgfGZRmE7J2O
https://dl.doubtnut.com/l/_1y9BWJwh4gH3


Answer: A

Watch Video Solution

40. PQ is any focal chord of the parabola x.

Then the length of PQ can never be less than

_________ .

A. 8 units

B. 16 units

C. 32 units

D. 48 units

y2 = 8

https://dl.doubtnut.com/l/_1y9BWJwh4gH3
https://dl.doubtnut.com/l/_D2CNYhiLfnR0


Answer: C

Watch Video Solution

41. If a focal chord of 
 makes an angle 


 with the positive direction of the x-

axis, then find the minimum length of
 this focal

chord.

A. 

B. 

C. 

D. 

y2 = 4ax

α ∈ [0, ]
π

4

4a sec2 α

2acosec2α

4a  cosec2α

4a cot2 α

https://dl.doubtnut.com/l/_D2CNYhiLfnR0
https://dl.doubtnut.com/l/_pbbPwiSHoW2d


Answer: C

Watch Video Solution

42. If the length of a focal chord of the parabola


at a
distance 
from the vertex is 
then

prove that .

A. 

B. 

C. 

D. 

y2 = 4ax b c,

b2c = 4a3

2a2 = bc

a3 = b2c

ac = b2

b2c = 4a3

https://dl.doubtnut.com/l/_pbbPwiSHoW2d
https://dl.doubtnut.com/l/_OgCjwhC5AGH1


Answer: D

Watch Video Solution

43. If l denotes the semi-latusrectum of the

parabola  and SP and SQ denote the

segments of and focal chord PQ, S being the focus

then SP, I, SQ are in the relation

A. A.P.

B. G.P.

C. H.P.

D. 

y2 = 4ax,

l2 = SP 2 + SQ2

https://dl.doubtnut.com/l/_OgCjwhC5AGH1
https://dl.doubtnut.com/l/_zzG0neXtTd2t


Answer: C

Watch Video Solution

44. The latus rectum of a parabola whose focal

chord is PSQ such that SP = 3 and SQ = 2

A. 24/5

B. 43804

C. 43621

D. none of these

Answer: A

https://dl.doubtnut.com/l/_zzG0neXtTd2t
https://dl.doubtnut.com/l/_C9hpWGuoHFY9


Watch Video Solution

45. The harmonic mean of the segments of a focal

chord of the parabola  is

A. 2a

B. 4a

C. 8a

D. 16a

Answer: C

Watch Video Solution

y2 = 16ax,

https://dl.doubtnut.com/l/_C9hpWGuoHFY9
https://dl.doubtnut.com/l/_KFhH0rGuf9li


46. If b and k are segments of a focal chord of the

parabola , then k =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

ab

b − a

b

b − a

a

b − a

ab

a − b

https://dl.doubtnut.com/l/_uzt5RfVGy3HO


47. If 
is a focal chord of the parabola 

such that 
 , then the length of 
 is
 (a)6

(b) 4
(c) 3 (d)
none of these

A. 6

B. 4

C. 3

D. 8

Answer: C

Watch Video Solution

PSQ y2 = 8x

SP = 6 SQ

https://dl.doubtnut.com/l/_A8Hi6SzLQms3
https://dl.doubtnut.com/l/_sPinXRAlLUAm


48. The locus of the midpoint of the segment

joining the focus to a moving
 point on the

parabola 
 is another parabola with

directrix (a) 
 (b) 
 (c) 
 (d) none

of these

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

y = 0 x = − a x = 0

x = − a

x = −
a

2

x = 0

x =
a

2

https://dl.doubtnut.com/l/_sPinXRAlLUAm


49. Let P be the point (1,0) and Q be a point on the

locus . The locus of the midpoint of PQ is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 8x

x2 − 4y = 2 = 0

x2 + 4y + 2 − 0

y2 + 4x + 2 = 0

y2 − 4x + 2 = 0

https://dl.doubtnut.com/l/_Femy1T9U2sOo


50. Let O be the vertex and Q be any point on the

parabola . IF the point P divides the line

segment OQ internally in the ratio 1:3 , then the

locus of P is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 8y

y2 = 2x

x2 = 2y

x2 = y

y2 = x

https://dl.doubtnut.com/l/_Im5XUpx8SZvx


51. If the line y=mx+c touches the parabola

, then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = 4a(x + a)

c = a +
a

m

c = am +
a

m

c = am + a

https://dl.doubtnut.com/l/_8FuCz4T6kreJ


52. If lx + my + n = 0 is tangent to the parabola

, them

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = y

t2 = 2mn

i = 4m2n2

m2 =
4
n

l2 = 4mn

https://dl.doubtnut.com/l/_tOV4giark3cQ


53. If the line x + y = 1 touches the parabola

 , then the value of k is

A. 4

B. -4

C. 2

D. -2

Answer: B

Watch Video Solution

y2 = kx

https://dl.doubtnut.com/l/_lg2puItwpbAa


54. If the line 
 is tangent to the

parabola 
then find the value of 

A. 1

B. 2

C. 4

D. 3

Answer: A

Watch Video Solution

y = mx + 1

y2 = 4x, m.

https://dl.doubtnut.com/l/_kZtEekBJZmtd


55. about to only mathematics

A. (6, 7)

B. (-6, 7)

C. (6, -7)

D. (-6, -7)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xGb0HZqPRSWl


56. Consider two curves  ; 

. Then,
 a. C1 and C2

touch each other at one point
 b. C1 and C2 touch

each other exactly at two point
 c. C1 and C2

intersect(but do not touch) at exactly two point
d.

C1 and C2 neither intersect nor touch each other

A.  touch each other at one point

B.  touch eacth other exactly at

two point

C.  intersect ( but do not touch) at

exactly two points

C1: y2 = 4x

C2 = x2 + y2 − 6x + 1 = 0

C1  and C2

C1  and C2

C1  and C2

https://dl.doubtnut.com/l/_WdliKE42qfiA


D.  neither intersect not touch

each other

Answer: B

Watch Video Solution

C1  and C2

57. The tangent to the parabola  at 

 intersect on its

axis, them

A. 

B. 

y2 = 4ax

P(at2
1, 2at1)  and Q(at2

2, 2at2)

t1 = t2

t1 = − t2

https://dl.doubtnut.com/l/_WdliKE42qfiA
https://dl.doubtnut.com/l/_g1yiyuKSzoox


C. 

D. 

Answer: B

Watch Video Solution

t1t2 = 2

t1t2 = − 1

58. If  are two

points on the parabola at , then that area

of the triangle formed by the tangents at P and Q

and the chord PQ, is

A. 

P(at2
1, 2at1) and Q(at2

2, 2at2)

y2 = 4ax

a2|t1 − t2|31

2

https://dl.doubtnut.com/l/_g1yiyuKSzoox
https://dl.doubtnut.com/l/_mCw9pwX6483N


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

a2|t1 − t2|21

2

a2|t1 − t2|3

59. Let A, B, C be three points on the parabola

 such that tangents at these points taken

in pairs form a triangle PQR. Then, area  : 

=

y2 = 4ax

(ΔABC)

(ΔPQR)

https://dl.doubtnut.com/l/_mCw9pwX6483N
https://dl.doubtnut.com/l/_ZbyvxqRlfr6o


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 1

2: 1

1: 2

2: 3

60. about to only mathematics

A. 1

B. 2

https://dl.doubtnut.com/l/_ZbyvxqRlfr6o
https://dl.doubtnut.com/l/_YgwjFYdgRJDF


C. 3

D. 4

Answer: B

Watch Video Solution

61. If the tangents at the points 
 on the

parabola 
 meet at 
 is its focus,

the prove that 
are in GP.

A. 

B. 

PandQ

y2 = 4ax T , andS

SP , ST , andSQ

A. P .

G. P .

https://dl.doubtnut.com/l/_YgwjFYdgRJDF
https://dl.doubtnut.com/l/_RCO1YtIbym10


C. 

D. none of these

Answer: B

Watch Video Solution

H. P .

62. If the distances of two points P and Q from the

focus of a parabola  are 4 and

9,respectively, then the distance of the point of

intersection of tangents at P and Q from the focus

is

A. 8

y2 = 4x

https://dl.doubtnut.com/l/_RCO1YtIbym10
https://dl.doubtnut.com/l/_XnIdbqRjvOP5


B. 6

C. 5

D. 13

Answer: B

Watch Video Solution

63. AB, AC are tangents to a parabola . If 

 are the lengths of perpendiculars from A,

B, C on any tangent to the parabola, then

A.  are in GP

y2 = 4ax

l1, l2, l3

l1, l2, l3

https://dl.doubtnut.com/l/_XnIdbqRjvOP5
https://dl.doubtnut.com/l/_nqXg9gyRoxcO


B.  are in GP

C.  are in GP

D.  are in GP

Answer: B::C

Watch Video Solution

l2, l1, l3

l3, l1, l2

l3, l2, l1

64. Find the locus of the point of intersection of

the normals at the end
 of the focal chord of the

parabola 

A. tangent at the vertex

y2 = 4ax.

https://dl.doubtnut.com/l/_nqXg9gyRoxcO
https://dl.doubtnut.com/l/_SuQsGNF67Gc6


B. its derectrix

C. its latusrectum

D. a parabola

Answer: B

Watch Video Solution

65. If two tangents drawn from a point P to the

parabola y2 = 4x are at right
angles, then the locus

of P is
 (1) 
 (2) 
 (3) 
 (4) 2x + 1 = 0 x = − 1 2x1 = 0

x = 1

https://dl.doubtnut.com/l/_SuQsGNF67Gc6
https://dl.doubtnut.com/l/_kEWxX7woj3ii


A. x=-1

B. 2x-1=0

C. x=1

D. 2x+1=0

Answer: A

Watch Video Solution

66. The tangents to the parabola 
 at the

vertex 
 and any point 
 meet at 
 . If 
 is the

focus, then prove that 
and 
are in GP.

y2 = 4ax

V P Q S

SP
.
SQ, SV

https://dl.doubtnut.com/l/_kEWxX7woj3ii
https://dl.doubtnut.com/l/_TRMAQGyS940M


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A. P .

G. P .

H. P .

67. Parabolas

, where 

and  are variable, are such that they touch each

other. The locus of their point of contact is

y2 = 4a(x − c1) and x2 = 4a(y − c2) c1

c2

https://dl.doubtnut.com/l/_TRMAQGyS940M
https://dl.doubtnut.com/l/_zUcOtMpsNv2P


A. straight line

B. Circle

C. Paraabola

D. hyperbola

Answer: D

Watch Video Solution

68. The focal chord to 
 is tangent to 


Then the possible value of the

slope of this chord is
 
 (b) 


(d) 

y2 = 16x

(x − 6)2 + y2 = 2.

{ − 1, 1} { − 2, 2}

{ − 2, }
1

2
{2, − }

1

2

https://dl.doubtnut.com/l/_zUcOtMpsNv2P
https://dl.doubtnut.com/l/_mk1fjEikhI7l


A. (-1, 1)

B. (-2, 2)

C. (-2, 1/2)

D. (2, -1/2)

Answer: A

Watch Video Solution

69. The circle 

intersects the parabola  orthogonally at

the point . The equation of the tangent to the

parabola at  can be

x2 + y2 − 2x − 6y + 2 = 0

y2 = 8x

P

P

https://dl.doubtnut.com/l/_mk1fjEikhI7l
https://dl.doubtnut.com/l/_HqMmi1kJgpY8


A. x-y-4=0

B. 2x+y-2=0

C. x+y-4=0

D. 2x-y+1=0

Answer: D

Watch Video Solution

70. Let PQ be a focal chord of the parabola

. The tangents to the parabola at P and Q

meet at point lying on the line 

y2 = 4ax

https://dl.doubtnut.com/l/_HqMmi1kJgpY8
https://dl.doubtnut.com/l/_Kx9uxqq98N9w


. 


The length of chord PQ is

A. 7a

B. 5a

C. 2a

D. 3a

Answer: B

Watch Video Solution

y = 2x + a, a < 0

https://dl.doubtnut.com/l/_Kx9uxqq98N9w


71. Mutually perpendicular tangents 

are drawn to 
 . Then find the minimum

length of 

A. a

B. 2a

C. 4a

D. 8a

Answer: C

Watch Video Solution

TAandTB

y2 = 4ax

AB.

https://dl.doubtnut.com/l/_QlkH6oLzdGG7
https://dl.doubtnut.com/l/_euvkCCIjyxpL


72. The
 equation of a tangent to the parabola


 . The point on this line from

which the
 other tangent to the parabola is

perpendicular to the given tangent is
 (1) 

(2) 
(3) 
(4) 

A. (2, 4)

B. (-2, 0)

C. (-1, 1)

D. (0, 2)

Answer: B

Watch Video Solution

y2 = 8xisy = x + 2

( − 1, 1)

(0, 2) (2, 4) ( − 2, 0)

https://dl.doubtnut.com/l/_euvkCCIjyxpL


73. The triangle formed by the tangents to a

parabola  at the ends of the latus rectum

and the double ordinate through the focus is

A. equilateral

B. isosceles

C. right-angled isosceles

D. dependent on the velue of a for its

classification.

Answer: C

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_3NX8pta4DspR


74. The tangents at the end points of any chord

through  to the parabola 

intersect

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, 0) y2 + 4x = 8

at 45∘  on x − 3 = 0

at 45∘  on x + 3 = 0

at 90∘  on x + 3 = 0

at 90∘  on x − 3 = 0

https://dl.doubtnut.com/l/_LoPp52jwfSxo
https://dl.doubtnut.com/l/_DskRyT6GQgZJ


75. Find the equation of common tangent of

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax and x2 = 4by

a1/3x + b1/3y = (ab)1/3

a1/3x + b1/3y = (ab)1/3 = 0

a2/3x + b2/3y = (ab)2/3

a2/3x + b2/3y = (ab)2/3 = 0

https://dl.doubtnut.com/l/_DskRyT6GQgZJ


76. Two common tangents to  and 

 are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 2a2

y2 = 8ax

x = ± (y + 2a)

y = ± (y + 2a)

x = ± (y + a)

x = ± (x + a)

https://dl.doubtnut.com/l/_INtI1p4yHFeP


77. Two equal parabolas have the same vertex and

their axes are at right angles. The length of the

common tangent to them, is

A. 3a

B. 

C. 6a

D. 2a

Answer: B

Watch Video Solution

3√2a

https://dl.doubtnut.com/l/_d6uLDmnRHMTQ
https://dl.doubtnut.com/l/_k5IwZYeooXSF


78. about to only mathematics

A. y=0, y=4(x-1)

B. y=0, y=-4(x-1)

C. y=0, y=-30x-50

D. none of these

Answer: A

Watch Video Solution

79. The equation of the common tangent touching

the circle 
 and the parabola (x − 3)2 + y2 = 9

https://dl.doubtnut.com/l/_k5IwZYeooXSF
https://dl.doubtnut.com/l/_ZmCPKpfjOgmD



 above the x-axis is
 
 (b) 


 
 (d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x √3y = 3x + 1

√3y = − (x + 3) √2y = x + 3

√3y = − (3x − 1)

√3y = 3x + 1

√3y = − (x + 1)

√3y = (x + 1)

√3y = − (3x + 1)

https://dl.doubtnut.com/l/_ZmCPKpfjOgmD


80. The common tangent of the parabolas

 is

A. y=x+2

B. y=x-2

C. y=2x+3

D. none of these

Answer: D

Watch Video Solution

y2 = 4x  and x2 = − 8y,

https://dl.doubtnut.com/l/_HNnMxncU2pFs


81. about to only mathematics

A. 3y=9y+2

B. y=2x+1

C. 2y=x+8

D. y=x+2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SIzjfz1EqWvJ


82. Equation of line touching both the parabolas

 & 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4x x2 = − 32y

x + 2y + 4 = 0

2x + y + 4 = 0

x − 2y − 4 = 0

x − 2y + 4 = 0

https://dl.doubtnut.com/l/_Q07EGGBYSZyQ


83. The slope of the line touching both the

parabolas  is

A. 43473

B. 43499

C. 43467

D. 43526

Answer: C

Watch Video Solution

y2 = 4x and x2 = − 32y

https://dl.doubtnut.com/l/_iAp7ldTDjTSV


84. If  be the slope of common tangent of

 and . Then  is

equal to

A. 16

B. 7

C. 9

D. none of these

Answer: D

Watch Video Solution

m

y = x2 − x + 1 y = x2– 3x + 1 m

https://dl.doubtnut.com/l/_WM14GaYdso7M
https://dl.doubtnut.com/l/_uwPlC7a7MJB3


85. If , then the angle of

intersection of the parabola

 at the point other than

the origin is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( ) + ( ) =
a

b

1
3 b

a

1
3 √3

2

y2 = 4ax and x2 = 4by

π

4

π

2

π

3

https://dl.doubtnut.com/l/_uwPlC7a7MJB3
https://dl.doubtnut.com/l/_xjnPSCOBRfXh


86. The normals at the ends of the latusrectum of

the parabola .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax  are (a, 2a) and (a, -2a)

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_xjnPSCOBRfXh


87. If the normals of the parabola  drawn

at the end points of its latus rectum are tangents

to the circle  then the

value of  is _________.

A. 4

B. 2

C. 6

D. 9

Answer: B

Watch Video Solution

y2 = 4x

(x − 3)2 + (y + 2)2 = r2

r2

https://dl.doubtnut.com/l/_okygFEPPmlJn


88. Find the equation of the normal to the

parabola  which is 


parallel to the line y=2x-5.

A. y=2x+12

B. y=2x-12

C. y=2x+8

D. y=-2x+12

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_UBMuIevGF64X
https://dl.doubtnut.com/l/_Km7DbPSPSu7i


89. The value of  for which the line 

 is a

normal to the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ ∈ ( − , )
π

2

π

2

y = x  cos θ + 4  cos3  θ − 14  cos θ − 1

y2 = 16x,

π/3

π/6

π/9

π/4

https://dl.doubtnut.com/l/_Km7DbPSPSu7i


90. The line  is a normal to the

parabola  if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lx + my + n = 0

y2 = 4ax

al(l2 + 2m2) + m2n = 0

al(l2 + 2m2) + m2n

al(2l2 + 2m2) + m2n = 0

al(2l2 + 2m2) + m2n

https://dl.doubtnut.com/l/_KQ5rC1hks1lY


91. If  is a normal to the parabola 

, then  is

A. 12

B. -12

C. 24

D. -24

Answer: C

Watch Video Solution

2x + y + λ = 0

y2 = − 8x λ

https://dl.doubtnut.com/l/_6vjpgOo2B4T1


92. The normal to the parabola  at P (1, 2)

meets the parabola again in Q, then coordinates of

Q are

A. (-6, 9)

B. (9, -6)

C. (-9, -6)

D. (-6, -9)

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_PV66N4UyDThb
https://dl.doubtnut.com/l/_DwY4UMBf1tfS


93. The normal at the point  on the

parabola  meets the parabola again in

the point  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(bt2
1, 2bt1)

y2 = 4bx

(bt2
2, 2bt2, )

t2 = t1 +
2

t1

t2 = t1 −
2

t1

t2 = − t1 +
2

t1

t2 = t1 −
2

t1

https://dl.doubtnut.com/l/_DwY4UMBf1tfS


94. A normal drawn at a point P on the parabola

 meets the curve again at Q. The least

distance of Q from the axis of the parabola, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 4ax

2√2a

3√2a

4√a

https://dl.doubtnut.com/l/_mCdDVY1yc7QK
https://dl.doubtnut.com/l/_3L7U71d3fFMl


95. The area between the parabola  ,

normal at one end of latusrectum and X-axis in

sq.units is

A. 

B. less then 

C. more then

D. less then 

Answer: C

Watch Video Solution

y2 = 4x

60∘

60∘

60∘

45∘

https://dl.doubtnut.com/l/_3L7U71d3fFMl


96. If  and  are three

points on  and the normal at PQ and R

meet at a point, then the value of

A. 4a

B. 2a

C. a

D. 0

Answer: D

Watch Video Solution

P (x1, y1), Q(x2, y2) R(x3, y3)

y2 = 4ax

+ + =
x1 − x2

y3

x2 − x3

y1

x3 − x1

y2

https://dl.doubtnut.com/l/_FlOiTfXbNVqj


97. If three distinct normals are drawn from 

to the parabola  such that one of them is

x-axis and other two are perpendicular, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2k, 0)

y2 = 4x

k =

k < 1

k > 1

k ≤ 1

k ≥ 1

https://dl.doubtnut.com/l/_D53IKqmWRoJu
https://dl.doubtnut.com/l/_HXspCo2exeaM


98. If three distinct normals are drawn from 

to the parabola  such that one of them is

x-axis and other two are perpendicular, then 

A. 1

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(2k, 0)

y2 = 4x

k =

1

2

3

2

https://dl.doubtnut.com/l/_HXspCo2exeaM


99. Find the point where the line 
 is a

normal to the parabola .

A. (18, -12)

B. (4, 2)

C. (2, 4)

D. (3, 3)

Answer: C

Watch Video Solution

x + y = 6

y2 = 8x

https://dl.doubtnut.com/l/_Hqsm4dk38Prs


100. Normals at P, Q, R are drawn to  which

intersect at (3, 0). Then, area of , is

A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

y2 = 4x

ΔPQR

2/5

1/2

5/2

https://dl.doubtnut.com/l/_UgaH5gVypQKg


101. Normals at P, Q, R are drawn to  which

intersect at (3, 0). Then, area of , is

A. 4

B. 2

C. 1

D. none of these

Answer: B

Watch Video Solution

y2 = 4x

ΔPQR

https://dl.doubtnut.com/l/_5MdQyaUBnseM


102. Normals at P, Q, R are drawn to  which

intersect at (3, 0). Then, area of , is

A. (2, 0)

B. (1, 0)

C. (2/3, 0)

D. (5/2, 0)

Answer: B

Watch Video Solution

y2 = 4x

ΔPQR

https://dl.doubtnut.com/l/_PEKboO66Vp7J


103. If the parabolas 
and 

have a common normal other than the x-axis


 being distinct positive real numbers), then

prove that 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax y2 = 4c(x − b)

(a, b, c

> 2.
b

a − c

0 < < 1
b

a − c

> 2
b

a − c

< 0
b

a − c

1 < < 2
b

a − c

https://dl.doubtnut.com/l/_lgTQRynMUscH


104. If from a point A, two tangents are drawn to

parabola  are normal to parabola 

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

x2 = 4by

a2 ≥ b2

a2 ≥ 4b2

a2 ≥ 8b2

8a2 ≥ b2

https://dl.doubtnut.com/l/_cG3j8FSeAn3x
https://dl.doubtnut.com/l/_fFdp15YxfEf3


105. Three normals drawn from a point (h k) to

parabola 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

h > a  and k2 > (h − 2a)24
27a

h > 2a  and k2 > (h − 2a)24
27a

h > 2a  and k2 < (h − 2a)24
27a

h > 2a

https://dl.doubtnut.com/l/_fFdp15YxfEf3


106. The set of points on the axis of the parabola


 from which the three normals to the

parabola are all real and different
 is


 (b) 


(d) none of these

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

y2 = 4x + 8

{(k, 0)|k ≤ − 2} {(k, 0) ∣ k⟩ − 2}

{(0, k)|k ≻ 2}

{(x, 0) : x ≤ − 2)}

{(x, 0) : x > − 2)}

{(0, y) : y > − 2)}

https://dl.doubtnut.com/l/_12CPyrqrIoPf


107. Set of values of 'h' for which the number of

distinct common normals of 

and 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 2)2 = 4(y − 3)

x2 + y2 − 2x − hy − c = 0(c > 0)  is 3, is

(2, ∞)

(4, ∞)

(2, 4)

(10, ∞)

https://dl.doubtnut.com/l/_12CPyrqrIoPf
https://dl.doubtnut.com/l/_uqWAZOKcDTiP


108. The set of points on the axis of the parabola

, from which three distinct normals can

be drawn to theparabola , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y2 = 4ax

{(x, 0) : x > a}

{(x, 0) : x > 2a}

{(x, x > 4a}

{x : a < x < 2a}

https://dl.doubtnut.com/l/_uqWAZOKcDTiP
https://dl.doubtnut.com/l/_in1ieNaqvOht


109. A normal drawn at a point P on the parabola

 meets the curve again at Q. The least

distance of Q from the axis of the parabola, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

4√6a

2√6a

3√6a

https://dl.doubtnut.com/l/_in1ieNaqvOht
https://dl.doubtnut.com/l/_E8I6NZ7rJ2l3


110. Find the number of distinct normals that can

be drawn from 
 to the parabola 

A. 1

B. 2

C. 3

D. 0

Answer: A

Watch Video Solution

( − 2, 1)

y2 − 4x − 2y − 3 = 0

https://dl.doubtnut.com/l/_HwzpZLLi7Irw
https://dl.doubtnut.com/l/_nRbonxBQh7Hj


111. If the normal chord of the parabola 

makes an angle  with the axis of the parabola,

then its length, is

A. 8

B. 

C. 4

D. 

Answer: B

Watch Video Solution

y2 = 4x

45∘

8√2

4√2

https://dl.doubtnut.com/l/_nRbonxBQh7Hj


112. The slopes of tangents drawn from a point

 to parabola  are

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(4, 10) y2 = 9x

1/4, 3/4

1/4, 9/4

1/4, 1/3

https://dl.doubtnut.com/l/_9hZXh6xcuSHt


113. The angle between the tangents drawn from

the point (1, 4) to the
parabola 
is
 
(b) 

(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x
π

6

π

4
π

3

π

2

π/6

π/4

π/3

π/2

https://dl.doubtnut.com/l/_vi7gBsgnif3Z
https://dl.doubtnut.com/l/_JSxvOhdlPvw5


114. Two tangent are drawn from the point


to parabola 
 if 
 is the angle

between these tangents, then find the value of

A. 3

B. 43468

C. 2

D. 43467

Answer: A

Watch Video Solution

( − 2, − 1) y2 = 4x. α

tanα.

https://dl.doubtnut.com/l/_JSxvOhdlPvw5
https://dl.doubtnut.com/l/_DHufe5Ebsafv


115. Prove that the locus of the point of

intersection of tangents to the parabola 

which meet at an angle  is

.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

α

(x + a)2 tan2 a = y2 − 4ax

(x + a)2 tan2 α = y2 − 4ax

(x + a)tan2 α = y2 − 4ax

(x − a)2 tan2 α = y2 − 4ax

https://dl.doubtnut.com/l/_DHufe5Ebsafv
https://dl.doubtnut.com/l/_1KZwxn4G3Gdi


116. The locus of the point of intersection of

tangents drawn at the extremities of a focal chord

to the parabola  is the curve

A. x=a

B. x=-a

C. y=a

D. y=-a

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_1KZwxn4G3Gdi


117. The locus of point of intersection of tangents

inclined at angle  to the parabola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

45∘ y2 = 4x

y2 − 4ax = (a + x)2

y2 + 4ax = (a + x)2

y2 − 4ax = (a − x)2

y2 + 4ax = (a − x)2

https://dl.doubtnut.com/l/_3zleJkC5U5IX


118. The equation of the chord of contact of

tangents from (2, 5) to the parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 8x,

4x + 5y + 8 = 0

4x − 5y + 8 = 0

4x − 5y − 9 = 0

4x + 5y − 8 = 0

https://dl.doubtnut.com/l/_HTAv6k5UjecC


119. Tangents are drawn to the parabola 

at the point where the line 

meets this parabola. Find the point of intersection

of these tangents.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

lx + my + n = 0

(n, /1, − 2am/1)

(l/n, − 2am/n)

(n/m, − 2al/m)

https://dl.doubtnut.com/l/_mEg7bFY7X4rC


120. The chords of contact of the pairs of tangents

drawn from each point on the line  to

the parabola  pass through the point

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + y = 4

y2 = − 4x

(2, − 1)

(1/2, 1/4)

( − 1/2, − 1/4)

( − 2, 1)

https://dl.doubtnut.com/l/_E7ZyjBJ0odbW
https://dl.doubtnut.com/l/_o0Zaq5hxgQYt


121. Tangents are drawn from the point  to

the parabola  show that the length of

their chord of contact is

.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(x1, y1)

y2 = 4ax

√(y2
1 − 4ax1)(y2

1 + 4a2)
1

|a|

√(y2
1 − 4ax1)(y2

1 + 4a2)
1

a

√(y2
1 − 4ax1)(y2

1 + 4a2)

√(y2
1 + 4ax1)(y2

1 + 4a2)
1

a

https://dl.doubtnut.com/l/_o0Zaq5hxgQYt
https://dl.doubtnut.com/l/_QHi4s27JShDO


122. Prove that the area of the traingle formed by

the tangents drawn from  to  and

their chord of contact is .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(x1, y1) y2 = 4ax

(y2
1 − 4ax1)

3 / 2
/2a

(y2
1 + 4ax1)

3/2

2a

(y2
1 − 4ax1)

3/2

2a

(y2
1 + 4ax1)

3/2

a

https://dl.doubtnut.com/l/_QHi4s27JShDO
https://dl.doubtnut.com/l/_xcULJfplTwkS


123. Equation of the chord of the parabola 

which is bisected at the point  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 8x

(2, − 3)

4x + 3y + 1 = 0

2x + 3y + 5 = 0

3x + 4y + 6 = 0

2x − 3y − 12 = 0

https://dl.doubtnut.com/l/_xcULJfplTwkS


124. if the line  meets the

parabola  then the mid point of the chord

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 3y + 1 = 0

y2 = 8x

(2, − 3)

(2, 4)

(5/2, 14/3)

(5, 8)

https://dl.doubtnut.com/l/_sN1ORPPHOnrf
https://dl.doubtnut.com/l/_DoS9B1107Q4y


125. The locus of the middle points of the chords of

the parabola  which pass through the

focus, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

y2 + 2ax + 2a2 = 0

y2 − ax + 2a2 = 0

y2 − 2ax + 2a2 = 0

y2 − 2ax + a2 = 0

https://dl.doubtnut.com/l/_DoS9B1107Q4y


126. Find the locus of the middle points of the

chords of the parabola 
 which subtend a

right angle at the vertex of the parabola.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y2 − 2ax + 2a2 = 0

y2 − 2ax + 8a2 = 0

y2 + 2ax − 8a2 = 0

y2 − 2ax − 8a2 = 0

https://dl.doubtnut.com/l/_gE9yamACn7Qk
https://dl.doubtnut.com/l/_tm32htea53sm


127. If the tangent at the point 
 to the

parabola 
meets the parabola 

at 
then find the midpoint of chord 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

P (2, 4)

y2 = 8x y2 = 8x + 5

QandR, QR.

(2, 4)

(4, 2)

(7, 9)

https://dl.doubtnut.com/l/_tm32htea53sm


128. The tangent at the point  to the

parabola  meets the parabola 

 at Q and R, the coordinates of the

mid-point of QR are :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (x1, y1)

y2 = 4ax

y2 = 4a(x + b)

(x1, y1)

(x1 + b, y1)

(x1 + b, y1 + b)

(x1 − b, y1 − b)

https://dl.doubtnut.com/l/_CNVQhMj1KFFK


129. about to only mathematics

A. circle with center at origin and radius | 2 pm |

B. line parallel to x-axis at a distance | 2 pm |

from it

C. line parallel to y-axis a distance | 2 pm | from

it

D. line parallel to y=mx,  at a distance | 2

pm | from it

Answer: C

Watch Video Solution

m ≠ 0

https://dl.doubtnut.com/l/_7OCDqZ5d0nZj


130. The polar of line point (2, 1) with respect to the

parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 6x,

y = 3x + 2

y = 3x + 6

3y = x + 6

y = 3x + 4

https://dl.doubtnut.com/l/_7OCDqZ5d0nZj
https://dl.doubtnut.com/l/_NDCSv9715Ta3
https://dl.doubtnut.com/l/_juoXutXVsa2I


131. The pole of the line lx+my+n=0 with respect to

the parabola  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax,

( , − )
n

l

2am

l

( , − )
n

m

2am

m

( , − )
n

m

2al
m

https://dl.doubtnut.com/l/_juoXutXVsa2I


132. The locus of the poles of tangents to the

parabola  with respect to the parabola 

 is

A. a circle

B. a parabola

C. a straight line

D. an ellipse

Answer: B

Watch Video Solution

y2 = 4ax

y2 = 4ax

https://dl.doubtnut.com/l/_o2ihCY3mAa4I


Section I Solved Mcqs

1. If the equation

 represent a

parabola then find .

A. -4

B. 4

C. 0

D. none of these

Answer: B

Watch Video Solution

λx2 + 4xy + y2 + λx + 3y + 2 = 0

λ

https://dl.doubtnut.com/l/_ZF0Ku1105Twp


2. The equation

 represents a

A. circle

B. parabola

C. a pair of straght lines

D. none of these

Answer: C

Watch Video Solution

x2 + 4xy + 4y2 − 3x − 6y − 4 = 0

https://dl.doubtnut.com/l/_ZF0Ku1105Twp
https://dl.doubtnut.com/l/_cRtGZORxXWTV
https://dl.doubtnut.com/l/_CT3QHrdp331W


3. The number of chords drawn from point (a, a) on

the circle , which are bisected by the

parabola , is

A. 1

B. 4

C. 2

D. 0

Answer: C

Watch Video Solution

x2 + y2 = 2a2

y2 = 4ax

https://dl.doubtnut.com/l/_CT3QHrdp331W


4. The length of the latusrectum of the parabola

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = ay2 + by + c,

a/4

a/3

1/a

1/(4a)

https://dl.doubtnut.com/l/_ilg979z3V2KK


5. If the line 
 is the directrix of the

parabola 
, then one of the values

of 
is
(a) 
(b) 8 (c) 4
(d) 

A. 

B. 8

C. 4

D. 43469

Answer: C

Watch Video Solution

x − 1 = 0

y2 − kx + 8 = 0

k
1

8

1

4

1/8

https://dl.doubtnut.com/l/_ig6r4YXJaYTn
https://dl.doubtnut.com/l/_SHxFpoOVk8XN


6. The number of parabolas that can be drawn , if

two ends of the latus rectum are given, is

A. 1

B. 2

C. 0

D. infinite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SHxFpoOVk8XN


7. The number of points with integral coordinates

that lie in the interior of the region common to the

circle  and the parabola , is

A. 8

B. 10

C. 16

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 16 y2 = 4x

https://dl.doubtnut.com/l/_Kisex52mCyuF
https://dl.doubtnut.com/l/_WsjUiS1DyIQu


8. Find the range of values of  for which the point

 is exterior to both the parabolas 

.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

λ

(λ, − 1)

y2 = |x|

a ∈ (0, 1)

a ∈ ( − 1, 1)

a ∈ ( − 1, 0)

https://dl.doubtnut.com/l/_WsjUiS1DyIQu


9. 
 is a chord of the parabola 
 with

vertex 
 is drawn perpendicular to 

meeting the axis at 
The projection of 
on the

axis of the parabola is
 
(b) 
(c) 
(d) 

A. a

B. 2a

C. 4a

D. 8a

Answer: C

Watch Video Solution

AB y2 = 4ax

A
.
BC AB

C. BC

a 2a 4a 8a

https://dl.doubtnut.com/l/_QVkLLasCtMhS


10. The coordinates of an end-point of the

latusrectum of the parabola 

are

A. (0, -3)

B. (0, -1)

C. (0, 1)

D. (1, 3)

Answer: B

Watch Video Solution

(y − 1)2 = 4(x + 1),

https://dl.doubtnut.com/l/_jAS5Q8hSdATH
https://dl.doubtnut.com/l/_xNNpd7iv7jTe


11. 
is the foot of the perpendicular from a point 


 on a parabola 
 to its directrix and 


 is an equilateral triangle, where S is the

focus. Then find 
.

A. a

B. 2a

C. 3a

D. 4a

Answer: D

Watch Video Solution

M

P y2 = 4ax

SPM

SP

https://dl.doubtnut.com/l/_xNNpd7iv7jTe
https://dl.doubtnut.com/l/_4HE8O3nmRWQl


12. The equation of the parabola, whose vertex and

focus are on the x-axis at distances a and b from

the origin respectively, is :

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4(b − a)(x − a)

y2 = 4(b − b)(x − b)

y2 = 4(b − a)(x − a)

https://dl.doubtnut.com/l/_4HE8O3nmRWQl


13. If parabolas 
 and 


 are

equal, then the value of 
is
(a) 9 (b) 3
(c) 7 (d) 6

A. 1

B. 2

C. 4

D. 6

Answer: D

Watch Video Solution

y2 = λx

25[(x − 3)2 + (y + 2)2] = (3x − 4y − 2)2

λ

https://dl.doubtnut.com/l/_hnDlcPv30rDv
https://dl.doubtnut.com/l/_JjMqnTUr1DNe


14. The point on  nearest to the focus has

to abscissa equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax

−a

a

a/2

0

https://dl.doubtnut.com/l/_JjMqnTUr1DNe


15. The focal chord of the parabola 
 is 


 . Then find the equation of the

directrix.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = ax

2x − y − 8 = 0

x + 4 = 0

X − 4 = 0

Y − 4 = 0

Y + + 4 = 0

https://dl.doubtnut.com/l/_RD7CibmOvQlf
https://dl.doubtnut.com/l/_Q32U1UMWOgue


16. Number of common chords of a parabola & a

circle can be

A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Q32U1UMWOgue


17. A ray of light moving parallel to the x-axis gets

reflected from parabolic mirror whose equation is

. After reflection, the ray must

pass through

A. (0, 3)

B. (3, 0)

C. (0, 0)

D. none of these

Answer: A

Watch Video Solution

(y − 3)2 = 8(x + 2)

https://dl.doubtnut.com/l/_OfHjXGyKNoYx


18. If  and 

are two tangents to the parabola , then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y + b = m1(x + a) y + b = m2(x + a)

y2 = 4ax

m1 + m2 = 0

m1m2 = 1

m1m2 = − 1

https://dl.doubtnut.com/l/_5Rz2AE9UEDns


19. If normals at the ends of the double ordinate x

= 4 of parabola  meet the curve again in P

and P' respectively, then PP' =

A. 6

B. 12

C. 10

D. none of these

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_9bcqn4V2y8jr
https://dl.doubtnut.com/l/_7P71v5aZCj2o


20. Radius of the largest circle which passes

through the focus of the parabola  and

contained in it, is

A. 8

B. 4

C. 2

D. 5

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_7P71v5aZCj2o


21. If the tangents and normals at the extremities

of a focal chord of a
parabola intersect at 

and 
 respectively, then
 (a) 
 (b) 


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x1, y1)

(x2, y2), x1 = y2

x1 = y1 y1 = y2 x2 = y1

x1 = x2

x1 = y2

y1 = y2

x2 = y1

https://dl.doubtnut.com/l/_gbYjV3gwW7LW


22. The axis of a parabola is along the line y = x and

its vertex and focus are in the first quadrant at

distances  respectively, from the origin.

The equation of the parabola, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√2, 2√2

(x + y)2 = x − y − 2

(x − y)2 = x − y − 2

(x − y)2 = (x − y − 2)

(x − y)2 = 8(x + y − 2)

https://dl.doubtnut.com/l/_l1UIoMsoLif8


23. If the normals from any point on the parabola

 cut the line y = 2 in points whose abscissa

are in A.P., then the slopes of tangents at the 3 co-

normal points are :

A. AP

B. GP

C. HP

D. none of these

Answer: B

Watch Video Solution

x2 = 4y

https://dl.doubtnut.com/l/_L9MUR0dlWc70


24. ABCD is a square of side length 2 units.  is

the circle touching all the sides of the square ABCD

and  is the circumcircle of square ABCD. L is a

fixed line in the same plane and R is fixed point. If a

circle is such that it touches the line L and the

circle  externally, such that both the circles are

on the same side of the line, then the locus of

centre of the circle is

A. an ellipse

B. a hyperbola

C. a parabola

D. a pair of straight lines

C1

C2

C1

https://dl.doubtnut.com/l/_II7i7nrs7wab


Answer: C

Watch Video Solution

25. Minimum distance between the parabola

is

A. 0

B. 

C. 

D. 

y2 − 4x − 8y + 40 = 0  and x2 − 8x − 4y + 40 = 0

√3

2√2

√2

https://dl.doubtnut.com/l/_II7i7nrs7wab
https://dl.doubtnut.com/l/_iGYyUtxzO9ve


Answer: D

Watch Video Solution

26. ABCD is a square with side AB = 2. A point P

moves such that its distance from A equals its

distance from the line BD. The locus of P meets the

line AC at  and the line through A parallel to BD

at  and . The area of the triangle  is :

A. 

B. 

C. 

T1

T2 T3 T1T2T3

sq. unit
1

2

sq. unit
2

3

1sq. unit

https://dl.doubtnut.com/l/_iGYyUtxzO9ve
https://dl.doubtnut.com/l/_T7ILnScjPuu2


D. 

Answer: C

Watch Video Solution

2sq. unit

27. Consider the circle  and the

parabola . They intersect at P and Q in first

and fourth quadrant respectively. Tangents to the

circle at P and Q intersect the x-axis at R and

tangents at the parabola at P and Q intersect the

x-axis at S.

A. 

x2 + y2 = 9

y2 = 8x

1: √2

https://dl.doubtnut.com/l/_T7ILnScjPuu2
https://dl.doubtnut.com/l/_9HUGxOUGFwjf


B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 2

1: 4

1: 8

28. If , then radius

of the circumcircle of  is

A. 5

B. 

P(1, 2√2), R(9, 0), S( − 1, 0)

ΔPRS,

3√3

https://dl.doubtnut.com/l/_9HUGxOUGFwjf
https://dl.doubtnut.com/l/_maLGi2zIrmW3


C. 

D. 

Answer: B

Watch Video Solution

3√2

2√3

29. In exampla 27, the radius of the incircle of

, is

A. 4

B. 3

C. 43680

ΔPQR

https://dl.doubtnut.com/l/_maLGi2zIrmW3
https://dl.doubtnut.com/l/_n1TJsedzB57e


D. 2

Answer: D

Watch Video Solution

30. Circle described on the focal chord as diameter

touches

A. the axis

B. the tangent at the vertex

C. the directrix

D. none of these

https://dl.doubtnut.com/l/_n1TJsedzB57e
https://dl.doubtnut.com/l/_kaDrDCEi1Pe1


Answer: C

Watch Video Solution

31. If a normal chord subtends a right at the vertex

of the parabola `y^(2)=4ax,then find its inclination

to the axis.

A. 

B. 

C. 2

D. none of these

1

√2

√2

https://dl.doubtnut.com/l/_kaDrDCEi1Pe1
https://dl.doubtnut.com/l/_CvXbHEiItYrR


Answer: B

Watch Video Solution

32. If the circle  touches

the parabola , them

A. 

B. 

C. 

D. none of these

Answer: B

x2 + y2 + 2ax = 0, a ∈ R

y2 = 4x

a ∈ ( − ∞, 0)

a ∈ (0, ∞)

a ∈ (2, ∞)

https://dl.doubtnut.com/l/_CvXbHEiItYrR
https://dl.doubtnut.com/l/_hyhreCQ2xg8f


Watch Video Solution

33. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

75
4

625

16

25

4

25

8

https://dl.doubtnut.com/l/_hyhreCQ2xg8f
https://dl.doubtnut.com/l/_SPAJS2OL2xZi
https://dl.doubtnut.com/l/_DOcpDITlS6LX


34. If 
 is a point on the axis of the parabola 


 from

where three distinct normals can be drawn, then

prove that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(h, k)

2(x − 1)2 + 2(y − 1)2 = (x + y + 2)2

h > 2.

h > 2

h < 4

h > 8

h < 8

https://dl.doubtnut.com/l/_DOcpDITlS6LX
https://dl.doubtnut.com/l/_EKtcp7CPtV9b


35. The radius of the circle whose centre is (-4,0)

and which cuts the parabola  at A and B

such that the common chord AB subtends a right

angle at the vertex of the parabola is equal to

A. 4

B. 3

C. 

D. 5

Answer: A

Watch Video Solution

y2 = 8x

√18

https://dl.doubtnut.com/l/_EKtcp7CPtV9b
https://dl.doubtnut.com/l/_g7y3STNuYVdI


36. PSQ is a focal chord of a parabola whose focus

is S and vertex is A. PA and QA are produced to

meet the directrix in R and T, respectively. Then

`

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∠RST =

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_g7y3STNuYVdI


37. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

vertex is (2a/3, 0)

Directri is x = 0

Latusrectum is 
2a

3

Focus is ( − a, 0)

https://dl.doubtnut.com/l/_mJulMzHHdjtF


38. The vertex of the parabola  is at the

centre of a circle and the parabola cuts the circle

of the ends of the latus rectum. Then the equation

of the circle is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = 8x

x2 + y2 = 4

x2 + y2 = 20

x2 + y2 = 80

https://dl.doubtnut.com/l/_r2gr0jaXsUgB


39. Let A, B and C be three points taken on the

parabola  with coordinates

 where  are in

A.P. If AA', BB' and CC' are focal chords and

coordinates of A', B' and C' are

 them 

are in

A. AP

B. GP

C. HP

D. none of these

y2 = 4ax

(at2
i , 2ati), i = 1, 2, 3, t1, t2  and t3

(at'2
i , 2at'i ), i = 1, 2, 3, t'1 , t'2 and t'3

https://dl.doubtnut.com/l/_SEWJ4qyBPv9w


Answer: C

Watch Video Solution

40. Let there be two parabolas with the same axis,

focus of each being exterior to the other and the

latus rectam being 4a and 4b. The locus of the

middle points of the intercepts between the

parabolas made on the lines parallel to the

common axis is a:

A. 

B. 

straight line if a > b

parabola if a ∈ b

https://dl.doubtnut.com/l/_SEWJ4qyBPv9w
https://dl.doubtnut.com/l/_D7YUAS73pnwZ


C. 

D. 

Answer: B

Watch Video Solution

parabola for all a, b

ellipse, if b > a

41. Let A and B be two points on  such

that normals to the curve at A and B meet at point

C, on the curve, then chord AB will always pass

through a fixed point whose co-ordinates, are

A. (2a, 0)

y2 = 4ax

https://dl.doubtnut.com/l/_D7YUAS73pnwZ
https://dl.doubtnut.com/l/_A005wUUVpFEX


B. (-a, 0)

C. (-2a, 0)

D. (a, 0)

Answer: B

Watch Video Solution

42. The set of real values of 'a' for which at least

one tangent to  becomes normal to the

circle 

 is

y2 = 4ax

x2 + y2 − 2ax − 4ay + 3a2 − 0,

https://dl.doubtnut.com/l/_A005wUUVpFEX
https://dl.doubtnut.com/l/_0foYAlm9mXSI


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[1, 2]

[√2, 3]

R

43. The locus of the mid-point of the line segment

joining a point on the parabola  and the

point of contact of circle drawn on focal distance

Y 2 = 4ax

https://dl.doubtnut.com/l/_0foYAlm9mXSI
https://dl.doubtnut.com/l/_Y1fsHXmcPftE


of the point as diameter with the tangent at the

vertex, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 9ax

9y2 = 2ax

2x2 = 9ay

2y2 = 9ax

https://dl.doubtnut.com/l/_Y1fsHXmcPftE


44. The tangent and normal at the point p(18, 12)

of the parabola  intersects the x-axis at the

point A and B respectively. The equation of the

circle through P, A and B is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 8x

x2 + y2 + 4x − 540 = 0

x2 + y2 − 6x − 360 = 0

x2 + y2 − 4x − 396 = 0

x2 + y2 − 2x − 444 = 0

https://dl.doubtnut.com/l/_UV0j7MjBvKfg


45. Tangent and normal at any point P of the

parabola  meet the x-axis at T

and N respectively. If the lengths of sub-tangent

and sub-normal at this point are equal, then the

area of  is given by

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

y2 = 4ax(a > 0)

ΔPTN

4a2

6√2a2

4√2a2

https://dl.doubtnut.com/l/_ehpscWtuZlMt


46. The points of the intersection of the curves

whose parametric equations are

 is given

by

A. (1, -3)

B. (2, 2)

C. (-2, 4)

D. (1, 2)

Answer: B

Watch Video Solution

x = t2 + 1, y = 2t and x = 2s, y =
s

2

https://dl.doubtnut.com/l/_ehpscWtuZlMt
https://dl.doubtnut.com/l/_AUTDI45DxWG6


47. The locus of the midpoint of the segment

joining the focus to a moving
 point on the

parabola 
 is another parabola with

directrix (a) 
 (b) 
 (c) 
 (d) none

of these

A. x = -a

B. x = a

C. x = 0

D. x = a/2

y2 = 4ax

y = 0 x = − a x = 0

https://dl.doubtnut.com/l/_AUTDI45DxWG6
https://dl.doubtnut.com/l/_WNflw5q9b4Fw


Answer: C

Watch Video Solution

48. The radical centre of the circles drawn on the

focal chords of  as diameters, is

A. (-a, 0)

B. (a, 0)

C. (0, 0)

D. (a, a)

Answer: C

y2 = 4ax

https://dl.doubtnut.com/l/_WNflw5q9b4Fw
https://dl.doubtnut.com/l/_5H2rfU60F8jB


Watch Video Solution

49. For each parabola , meeting

coordinate axes at 3-distinct points, if circles are

drawn through these points, then the family of

circles must pass through

A. (1, 0)

B. (0, 1)

C. (1, 1)

D. (p, q)

Answer: B

y = x2 + px + q

https://dl.doubtnut.com/l/_5H2rfU60F8jB
https://dl.doubtnut.com/l/_CZ0HXerCp8Kl


Watch Video Solution

50. Let  and  be two points on

the parabola . If the circle with chord AB

as a dimater touches the parabola, then 

is equal to

A. 4a

B. 8a

C. 

D. none of these

Answer: B

A(x1, y1) B(x2, y2)

y2 = 4ax

|y1 − y2|

6√2a

https://dl.doubtnut.com/l/_CZ0HXerCp8Kl
https://dl.doubtnut.com/l/_GSPeDJsdCABc


Watch Video Solution

51. Let A and B be two distinct points on the

parabola . If the axis of the parabola

touches a circle of radius r having AB as its

diameter, then find the slope of the line joining A

and B .

A. 

B. 

C. 

D. 

y2 = 4x

±
1

r

±
2

r

±
3

r

± r
1

2

https://dl.doubtnut.com/l/_GSPeDJsdCABc
https://dl.doubtnut.com/l/_v4tltuZWyJTt


Answer: B

Watch Video Solution

52. the shortest distance between the line

 and the curve  is

A. 

B. 

C. 

D. 

Answer: B

y − x = 1 x = y2

√3

4

3√2

8

8

3√2

4

√3

https://dl.doubtnut.com/l/_v4tltuZWyJTt
https://dl.doubtnut.com/l/_gRXD21fOr3B0


Watch Video Solution

53. about to only mathematics

A. 4

B. 3

C. 2

D. 8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gRXD21fOr3B0
https://dl.doubtnut.com/l/_ELR04QnHfKLE
https://dl.doubtnut.com/l/_eEv9hTqlPmCq


54. Let PQ be a focal chord of the parabola

. The tangents to the parabola at P and Q

meet at point lying on the line 

. 


If chord PQ subtends an angle  at the vertex of

, then 

A. 

B. 

C. 

D. 

Answer: D

h id l i

y2 = 4ax

y = 2x + a, a < 0

θ

y2 = 4ax tan θ =

2√7
3

−
2√7

3

2√3

3

−
2√5

3

https://dl.doubtnut.com/l/_eEv9hTqlPmCq


Watch Video Solution

55. Let a, r, s, t be non-zero real numbers. Let

 be

distinct points on the parabola . Suppose

that PQ is the focal chord and lines QR and PK are

parallel, where K the point (2a,0). 

The value of r is

A. 

B. 

C. 

D. 

P(at2, 2at), Q(ar2, 2ar) and S(as2, 2as)

y2 = 4ax

−
1

t

t2 + 1
t

1

t

t2 − 1
t

https://dl.doubtnut.com/l/_eEv9hTqlPmCq
https://dl.doubtnut.com/l/_OS1EDOLnx8Op


Answer: D

Watch Video Solution

56. Let a, r, s, t be non-zero real numbers. Let

 be

distinct points on the parabola . Suppose

that PQ is the focal chord and lines QR and PK are

parallel, where K the point (2a,0). 

If st=1, then the tangent at P and the normal at S to

the parabola meet at a point whose ordinate is

A. 

P(at2, 2at), Q(ar2, 2ar) and S(as2, 2as)

y2 = 4ax

(t + 1)
2

2t3

https://dl.doubtnut.com/l/_OS1EDOLnx8Op
https://dl.doubtnut.com/l/_hQvo1kY89osz


B. 

C. 

D. 

Answer: B

Watch Video Solution

a(t + 1)
2

2t3

a(t2 + 1)
2

t3

a(t2 + 2)
2

t3

57. Let P and Q be distinct points on the parabola

 such that a circle with PQ as diameter

passes through the vertex O of the parabola. If P

lies in the first quadrant and the area of the

y2 = 2x

https://dl.doubtnut.com/l/_hQvo1kY89osz
https://dl.doubtnut.com/l/_dnHFK4LMBtIt


triangle  is  , then which of the

following is (are) the coordinates of 

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

ΔOPQ 3√2

P ?

(4, 2√2)

(9, 3√2)

(1/4, 1/√2)

(1, √2)

58. about to only mathematics

https://dl.doubtnut.com/l/_dnHFK4LMBtIt
https://dl.doubtnut.com/l/_9VA1yHWTA1kD


A. 3

B. 6

C. 8

D. 4

Answer: D

Watch Video Solution

59. PSQ is a focal chord of a parabola whose focus

is S and vertex is A. PA and QA are produced to

meet the directrix in R and T, respectively. Then

`∠RST =

https://dl.doubtnut.com/l/_9VA1yHWTA1kD
https://dl.doubtnut.com/l/_Q6Yis13VO49S


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

90∘

60∘

45∘

30∘

60. Let P be the point on the parabola  which

is at the shortest distance from the center S of the

circle . Let Q be the

y24x

x2 + y2 − 4x − 16y + 64 = 0

https://dl.doubtnut.com/l/_Q6Yis13VO49S
https://dl.doubtnut.com/l/_jG2e9szh8tLw


point on the circle dividing the line segment SP

internally. Then

A. 

B. 

C. the x-intercept of the normal to the parabola

at P is 6

D. the slope of the tangent to the circle at Q is

1/2

Answer: B

Watch Video Solution

SP = 2√5

SP :QP = √5 + 1) : 2

https://dl.doubtnut.com/l/_jG2e9szh8tLw
https://dl.doubtnut.com/l/_sUyrBrDmZtWR


61. Let P be the point on the parabola, 

which is at a minimum distance from the center C

of the circle , . Then the

equation of the circle, passing through C and

having its canter at P is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 8x

x2 + (y + 6)2 = 1

x2 + y2 − x + 4y − 12 = 0

x2 + y2 = x + 2y − 24 = 0
1

4

x2 + y2 − 4x + 9y + 12 = 0

x2 + y2 − 4x + 8y + 12 = 0

https://dl.doubtnut.com/l/_sUyrBrDmZtWR


62.  and  are two distinct points on the

parabola,  with parameters  and 

respectively. If the normal at  passes through ,

then the minimum value of  is

A. 4

B. 6

C. 8

D. 2

Answer: C

Watch Video Solution

P Q

y2 = 4x t t1

P Q

t2
1

https://dl.doubtnut.com/l/_sUyrBrDmZtWR
https://dl.doubtnut.com/l/_At1qvsM58gZY


Watch Video Solution

63. Let PQ be a focal chord of the parabola 

. If the centre of a circle having PQ as its diameter

lies on the line , then length of the

chord PQ, is

A. 

B. 

C. 

D. 

Answer: A

h id l i

y2 = 4x

√5y + 4 = 0

36

5

26

5

36√5

5

26√5

5

https://dl.doubtnut.com/l/_At1qvsM58gZY
https://dl.doubtnut.com/l/_UyOufgmqB7zM


Watch Video Solution

64. The centres of those circles which touch the

circle, , externally and

also touch the x-axis, lie on

A. an ellipe which is not a circle

B. a hyperbola

C. a parabola

D. a circle

Answer: C

Watch Video Solution

x2 + y2 − 8x − 8y − 4 = 0

https://dl.doubtnut.com/l/_UyOufgmqB7zM
https://dl.doubtnut.com/l/_G8bkaNC70eJD


65. The radius of a circle, having minimum area,

which
touches the curve 
 and the lines 


is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 4 − x2

y = |x|

2(√2 + 2)

2(√2 − 1)

4(√2 − 1)

4(√2 + 1)

https://dl.doubtnut.com/l/_G8bkaNC70eJD
https://dl.doubtnut.com/l/_1zs4jieM5Tno


66. If a chord , which is not a tangent of the

parabola  has the equation 2x+y=p, and

mid-point (h,k), then which of the following is (are)

possible values (s) of p,h and k?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 16x

p = 5, h = 4, k = − 3

p = − 1, h = 1, k = − 3

p = − 2, h = 2, k = − 4

p = 2, h = 3, k = − 4

https://dl.doubtnut.com/l/_EStwEHFNIzfX


Section I Solved Mcqs Example

1. Three points A, B and C are considered on a

parabola. The tangents to the parabola at these

points from a triangle MNP (NP being tangent at A,

PM at B and MN at C). If the line through B and

parallel to axis of parabola intersects AC at L. then

the quadrilateral LMNP 

A. is always a parallelogram

B. can never be parallelogram

https://dl.doubtnut.com/l/_XxMdLCi9KONT


Section Ii Assertion Reason Type

C. is parallelogram only when ordinates of A, B,

C are in A.P.

D. has exactly sides parallel to each always.

Answer: A

View Text Solution

1. Statement I The curve  is

symmetric with respect to the line . because

Statement II A parabola is symmetric about its axis.

y = + x + 1
x2

2

x = 1

https://dl.doubtnut.com/l/_XxMdLCi9KONT
https://dl.doubtnut.com/l/_iA8f4XLb1fvs


A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-1

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iA8f4XLb1fvs


2. Statement-1: The tangents at the extremities of a

focal chord of the parabola  intersect on

the line x + a = 0. 

Statement-2: The locus of the point of intersection

of perpendicular tangents to the parabola is its

directrix

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

y2 = 4ax

https://dl.doubtnut.com/l/_0slXJbwHyti9


Statement-2

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

3. Consider two curves  ; 

. Then,
 a. C1 and C2

touch each other at one point
 b. C1 and C2 touch

each other exactly at two point
 c. C1 and C2

C1: y2 = 4x

C2 = x2 + y2 − 6x + 1 = 0

https://dl.doubtnut.com/l/_0slXJbwHyti9
https://dl.doubtnut.com/l/_7VB2JrDaylu2


intersect(but do not touch) at exactly two point
d.

C1 and C2 neither intersect nor touch each other

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-3

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: B

https://dl.doubtnut.com/l/_7VB2JrDaylu2


Watch Video Solution

4. Statement-1: Three normals can be drawn to the

parabola  through the point (a, a+1), if 

. 


Statement-2: The point (a, a+1) lies outside the

parabola  for all .

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

y2 = 4ax

a < 2

y2 = 4x a ≠ 1

https://dl.doubtnut.com/l/_7VB2JrDaylu2
https://dl.doubtnut.com/l/_tQuyYrWmJHpO


B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-4

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is False, Statement - 2 is True.

Answer: D

Watch Video Solution

5. Statement-1: Length of the common chord of the

parabola  and the circle  is lessy2 = 8x x2 + y2 = 9

https://dl.doubtnut.com/l/_tQuyYrWmJHpO
https://dl.doubtnut.com/l/_lzXMt67DVhBP


than the length of the latusrectum of the parabola.

Statement-2: If vertex of a parabola lies at the

point (a. 0) and the directrix is x + a = 0, then the

focus of the parabola is at the point (2a, 0).

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-5

C. Statement-1 is True, Statement - 2 is False.

https://dl.doubtnut.com/l/_lzXMt67DVhBP


D. Statement-1 is True, Statement - 2 is True.

Answer: C

Watch Video Solution

6. Statement-1:  and 

 are perpendicular tangents to

the parabola . 


Statement-2: The locus of the point of intersection

of perpendicular tangents to a parabola is its

directrix.

y + b = m1(x + a)

y + b = m2(x + a)

y2 = 4ax

https://dl.doubtnut.com/l/_lzXMt67DVhBP
https://dl.doubtnut.com/l/_MWjJ2Jf8268n


A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-6

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MWjJ2Jf8268n


7. Given a circle,  and a parabola, 

. 


Statement 1: An equation of a common tangent to

these curves is . 


Statement 2 if the line,  is

the common tangent, then m satisfies

.

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

2x2 + 2y2 = 5

y2 = 4√5x

y = x + √5

y = mx + (m ≠ 0)
√5

m

m4 − 3m2 + 2 = 0

https://dl.doubtnut.com/l/_H9SFXy2DOx8X


Exercise

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation for

Statement-7

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_H9SFXy2DOx8X


1. If the focus and vertex of a parabola are the

points (0, 2) and (0, 4),
 respectively, then find the

equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 8x + 32

y2 = − 8x + 32

x2 + 8x = 32

x2 − 8y = 32

https://dl.doubtnut.com/l/_uOktwdtAnMMS
https://dl.doubtnut.com/l/_4Vs5z1E967Os


2. Find the equation of the directrix of the

parabola .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 4x − 3y + 10 = 0

y = −
5

4

y =
5

4

y = −
3

4

x =
5

4

https://dl.doubtnut.com/l/_4Vs5z1E967Os


3. If the vertex of a parabola is the point 

and the directrix is the line 
 , then find

its equation.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3, 0)

x + 5 = 0

y2 = 8(x + 3)

x2 = 8(x + 3)

y2 = − 8(x + 3)

y2 = 8(x + 5)

https://dl.doubtnut.com/l/_KLtZVAK6NPLx
https://dl.doubtnut.com/l/_G52jjjin9Zwi


4. Find the angle made by a double ordinate of

length 
at the vertex of the parabola 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8a y2 = 4ax.

π/3

π/2

π/4

π/6

https://dl.doubtnut.com/l/_G52jjjin9Zwi


5. Find the coordinates of points on the parabola


whose focal distance is 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 8x 4.

(1/2, ± 2)

(1, ± 2√2)

(2, ± 4)

https://dl.doubtnut.com/l/_t7wwkT1Mzqmv


6. An equilateral triangle is inscribed in the

parabola 
 whose vertex is at of the

parabola. Find the length of
its side.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax

4a√3

2a√3

16a√3

8a√3

https://dl.doubtnut.com/l/_sqnYVsrjOGDR
https://dl.doubtnut.com/l/_HVv1jgCqLQ1B


7. The coordinates of the focus of the parabola

A. (0, 2)

B. (2, 1)

C. (1, 2)

D. (-2, -1)

Answer: B

Watch Video Solution

x2 − 4x − 8y − 4 = 0

https://dl.doubtnut.com/l/_HVv1jgCqLQ1B


8. If 
 be the ordinates of a vertices of the

triangle
 inscribed in a parabola 
 then

show that the area of the triangle is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y1, y2, y3

y3 = 4ax,

|(y1 − y2)(y2 − y3)(y3 − y1)|.
1

8a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

2a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

4a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

8a

https://dl.doubtnut.com/l/_8JAbwp0gt7mm


9. The area of the triangle inscribed in the parabola

 the ordinates of whose vertices are 1, 2

and 4 square units, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4x

7
2

5

2

3

2

3

4

https://dl.doubtnut.com/l/_HTqlMLXUUmb9
https://dl.doubtnut.com/l/_HoULf1omxLrA


10. The length of the latusrectum of the parbola

whose focus is  and directrix 

, is

A. 2

B. 1

C. 4

D. none of these

Answer: A

Watch Video Solution

(3, 3)

3x − 4y − 2 = 0

https://dl.doubtnut.com/l/_HoULf1omxLrA


11. The length of the latus rectum of the parabola

whose focus is 
 and

directrix is 
 is (a) 
 (b) 

(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( sin 2α, − cos 2α)
u2

2g

u2

2g

y =
u2

2g
cos2 α

u2

g
cos2 2α

u2

g

cos2 2α
2u2

g
cos2 α

2u2

g

cos2 α
u2

g

cos 2α
u2

g

cos 2α
2u2

g

cos2 α
2u2

g

https://dl.doubtnut.com/l/_8H2xNPlpvynT


12. PQ is a double ordinate of a parabola 

Find the locus of its points of trisection.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax.

y2 = ax

9y2 = 4ax

9y2 = ax

y2 = 9ax

https://dl.doubtnut.com/l/_8H2xNPlpvynT
https://dl.doubtnut.com/l/_QRQdmEt6frRq


13. If the segment intercepted by the parabola


 with the line 
subtends

a right angle at the vertex, then
 
 (b) 


 
(d) 

A. 4 al+ n =0

B. 4al+4am +n =0

C. 4am+n=0

D. al+n=0

Answer: A

Watch Video Solution

y = 4ax lx + my + n = 0

4al + n = 0

4al + 4am + n = 0 4am + n = 0 al + n = 0

https://dl.doubtnut.com/l/_WZFvVDV8pZDo


14. The length of a focal chord of the parabola

 making an angle  with the axis of the

parabola is is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax θ

(a > 0) :

4acosec2θ

4a cos θcosec2θ

4a cot θcosec2θ

2a  cosec2θ

https://dl.doubtnut.com/l/_w50dagyqUerr
https://dl.doubtnut.com/l/_NJt6kst5MzqO


15. Show that the parametric point

 represents a parabola. Show that

its vertex is (2,1).

A. a parabola with focus at (2, 1)

B. a parabola with vertex at (2, 1)

C. an ellipse with centre at (2, 1)

D. none of these

Answer: B

Watch Video Solution

(2 + t2, 2t + 1)

https://dl.doubtnut.com/l/_NJt6kst5MzqO


16. The ratio in which the line segment joining the

point (4, -6) and (3, 1) si divided by the parabola

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

: 1
−20 ± √155

11

: 1
−2 ± √155

11

−20 ± 2√155: 11

−20 ± √155: 11

https://dl.doubtnut.com/l/_wl6sTIsA9m7O
https://dl.doubtnut.com/l/_VYRC1u2HCCo5


17. If 
 is the midpoint of a chord passing

through the vertex of the parabola 
then

(a) 
(b) 
(c) 
(d) 

A. a=ab

B. 2a=b

C. 

D. 

Answer: D

Watch Video Solution

(a, b)

y2 = 4x,

a = 2b a2 = 2b a2 = 2b 2a = b2

a2 = ab

2a = b2

https://dl.doubtnut.com/l/_VYRC1u2HCCo5


18. If the vertex and focus of a parabola are 

and  respectively, then its equation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(3, 3)

( − 3, 3)

x2 + 6x − 24y + 63 = 0

x2 − 6x + 24y − 63 = 0

y2 − 6y + 24x − 63 = 0

y2 + 6y − 24x + 63 = 0

https://dl.doubtnut.com/l/_US6BdjRuGYe1


19. about to only mathematics

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = a(x − a)

y2 = 2a(x − a)

y2 = 4a(x − a)

https://dl.doubtnut.com/l/_cUU4IktpYYde


20. If  are the ordinates of two points P and Q

on the parabola and  is the ordinate of the

intersection of tangents at P and Q, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y1, y2

y3

y1, y2, y3  are in AP

y1, y3, y2  are in AP

y1, y2, y3  are in GP

y1, y3, y2  are in GP

https://dl.doubtnut.com/l/_QPvLelUvMNIY
https://dl.doubtnut.com/l/_7HiGvd2eLFnN


21. If the line touches the parabola 

, then the coordinates of the point

of contact are:

A. (1, 1)

B. (1/2, 1/2)

C. (0, 1)

D. (1, 0)

Answer: C

Watch Video Solution

x + y = 1

y2 − y + x = 0

https://dl.doubtnut.com/l/_7HiGvd2eLFnN


22. Find the locus of the foot of the perpendiculars

drawn from the vertex on a variable tangent to the

parabola .

A. the directrix

B. tangent at the vertex

C. x = a

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_4mbGptkY7gcX
https://dl.doubtnut.com/l/_Ffyl0tYw5nf2


23. Equation of line touching both the parabolas

 & 

A. x+2y+4=0

B. 2x+y-4=0

C. x-2y-4=0

D. x-2y+4=0

Answer: D

Watch Video Solution

y2 = 4x x2 = − 32y

https://dl.doubtnut.com/l/_Ffyl0tYw5nf2


24. If  is the parameter for one end of a focal

chord of the parabola  then its length is

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t

y2 = 4ax,

a(t + )
2

1

t

a(t − )
21

t

a(t + )
1

t

a(t − )
1

t

https://dl.doubtnut.com/l/_H0R1yCVF0FlI
https://dl.doubtnut.com/l/_2MlZxzmnBIEf


25. Find the equation of normal to the parabola

at point 

Watch Video Solution

y2 = 4ax (at2, 2at)

26. Normal at the point 
 meets the

parabola 
again at 
such that

the lines joining the origin to 
 are at right

angle. Then,
 
(b) 
 
(d) 

A. 

B. 

C. 

P(ap2, 2ap)

y2 = 4ax Q(aq2, 2aq)

PandQ

P 2 = 2 q2 = 2 p = 2q q = 2p

p2 + pq + 2 = 0

p2 − pq + 2 = 0

q2 + pq + 2 = 0

https://dl.doubtnut.com/l/_2MlZxzmnBIEf
https://dl.doubtnut.com/l/_GbF8k1TnSRnj


D. 

Answer: A

Watch Video Solution

p2 + pq + 1 = 0

27. The length of the subnormal to the parabola

 at any point is equal to

A. 

B. 

C. 

D. 

y2 = 4ax

a√2

2√2a

a

√2

2a

https://dl.doubtnut.com/l/_GbF8k1TnSRnj
https://dl.doubtnut.com/l/_NnSbxkCSx9ov


Answer: D

Watch Video Solution

28. The two parabolas 

intersect at a point P, whose abscissas is not zero,

such that

A. they both touch each other at P

B. they cut at right angles at P

C. the tangents to each curvs at P make

complementary angles with the x-axis

y2 = 4x  and x2 = 4y

https://dl.doubtnut.com/l/_NnSbxkCSx9ov
https://dl.doubtnut.com/l/_z5H6zrIRn1QI


D. none of these

Answer: C

Watch Video Solution

29. A set of parallel chords of the parabola


have their midpoint on
any straight line

through the vertex
 any straight line through the

focus
 a straight line parallel to the axis
 another

parabola

A. any straight line through the vertex

B. any straight line through the focus

y2 = 4ax

https://dl.doubtnut.com/l/_z5H6zrIRn1QI
https://dl.doubtnut.com/l/_OaMXeftFwzFO


C. a straight line parallel to the axis

D. another parabola

Answer: C

Watch Video Solution

30. Find the point on the curve  the

tangent at which makes an angle of  with the x-

axis.

A. (a/2, a/4)

B. (-a/2, a/4)

y2 = ax

45∘

https://dl.doubtnut.com/l/_OaMXeftFwzFO
https://dl.doubtnut.com/l/_D4pL1Mrhfaah


C. (a/4, a/2)

D. (-a/4, a/2)

Answer: C

Watch Video Solution

31. If  is a normal to the parabola 

, then  is

A. -16

B. -8

C. -24

2x + y + λ = 0

y2 = − 8x λ

https://dl.doubtnut.com/l/_D4pL1Mrhfaah
https://dl.doubtnut.com/l/_ucrPNat50BwU


D. 24

Answer: D

Watch Video Solution

32. Find the angle at which the parabolas 

and 
intersect.

A. 

B. 

C. 

D. 

y2 = 4x

x2 = 32y

tan− 1(3/5)

tan− 2(4/5)

π

π/2

https://dl.doubtnut.com/l/_ucrPNat50BwU
https://dl.doubtnut.com/l/_80zsKj4f3r0e


Answer: A

Watch Video Solution

33. The normal at  on  meets the

curve again at . Then the value of 

A. 1

B. 3

C. -1

D. -3

Answer: D

(a, 2a) y2 = 4ax

(at2, 2at) t =

https://dl.doubtnut.com/l/_80zsKj4f3r0e
https://dl.doubtnut.com/l/_mK3pPOJWLwoK


Watch Video Solution

34. If a chord which is normal to the parabola at

one end subtend a right angle at the vertex, then

angle to the axis is

Watch Video Solution

35. Find the equations of the normals at the ends

of the latus- rectum of the parabola 

Also prove that they are at right angles on the axis

of the parabola.

y2 = 4ax.

https://dl.doubtnut.com/l/_mK3pPOJWLwoK
https://dl.doubtnut.com/l/_98MK8dzJeLsa
https://dl.doubtnut.com/l/_o45z3rtJhC0C


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 − y2 − 6ax + 9a2 = 0

x2 − y2 − 6ax − 6ay + 9a2 = 0

x2 − y2 − 6xy + 9a2 = 0

36. Normal at the point 
 meets the

parabola 
again at 
such that

the lines joining the origin to 
 are at right

angle. Then,
 
(b) 
 
(d) 

P(ap2, 2ap)

y2 = 4ax Q(aq2, 2aq)

PandQ

P 2 = 2 q2 = 2 p = 2q q = 2p

https://dl.doubtnut.com/l/_o45z3rtJhC0C
https://dl.doubtnut.com/l/_XmhmkZSQv4iw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p2 = 2

q2 = 2

p = 2q

q = 2p

37. If the normals at points  and 
 meet on the

parabola, then


(a) 
 (b) 
 (c) 
 (d)

none of these

t1 t2

t1t2 = 1 t2 = − t1 −
2

t1
t1t2 = 2

https://dl.doubtnut.com/l/_XmhmkZSQv4iw
https://dl.doubtnut.com/l/_gD30v8D3DWNN


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

t1t2 = − 1

t2 = − t1 −
2

t1

t1t2 = 2

38. If the normals at two points P and Q of a

parabola  intersect at a third point R on

the curve, then the product of ordinates of P and Q

is

y2 = 4ax

https://dl.doubtnut.com/l/_gD30v8D3DWNN
https://dl.doubtnut.com/l/_fkYPqJQgfFYY


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4a2

2a2

−4a2

8a2

39. Find the angle between the tangents drawn

from the origin to the
parabolas 

A. 

y2 = 4a(x − a)

90∘

https://dl.doubtnut.com/l/_fkYPqJQgfFYY
https://dl.doubtnut.com/l/_3LOXeEV2gagM


B. 

C. 

D. 

Answer: A

Watch Video Solution

30∘

tan− 1(1/2)

45∘

40. The angle between the tangents drawn from

the point (-a, 2a) to =4ax is

A. 

B. 

y2

π/4

π/2

https://dl.doubtnut.com/l/_3LOXeEV2gagM
https://dl.doubtnut.com/l/_2rgfOenuWp6k


C. 

D. 

Answer: B

Watch Video Solution

π/3

π/6

41. The angle between the tangents to the

parabola 
 at the points where it

intersects with the line 
 is
 (a) 
 (b) 


(c) 
(d) 

A. 

y2 = 4ax

x − y − a = 0
π

3
π

4
π

π

2

π/3

https://dl.doubtnut.com/l/_2rgfOenuWp6k
https://dl.doubtnut.com/l/_5zn3TrtrTXmG


B. 

C. 

D. 

Answer: D

Watch Video Solution

π/4

π/6

π/2

42. P(-3, 2) is one end of focal chord PQ of the

parabola . Then the slope of the

normal at Q is

A. 

y2 + 4x + 4y = 0

−1/2

https://dl.doubtnut.com/l/_5zn3TrtrTXmG
https://dl.doubtnut.com/l/_kEOgKtedKoel


B. 

C. 

D. 

Answer: A

Watch Video Solution

2

1/2

−2

43. If  is a normal to the parabola 

, then the value of c, is

A. 

B. 

x = my + c

x2 = 4ay

−2am − am3

2am + am3

https://dl.doubtnut.com/l/_kEOgKtedKoel
https://dl.doubtnut.com/l/_4tzSwYPuKFkT


C. 

D. 

Answer: A

Watch Video Solution

− −
2a

m

a

m3

+
2a

m

a

m3

44. Find the equations of the tangent to the given

curve at the indicated point : 

A. 

B. 

y2 = 4ax  at ( , )
a

m2

2a

m

y = mx − 2am − am3

m3y = m2x − 2am2 − a

https://dl.doubtnut.com/l/_4tzSwYPuKFkT
https://dl.doubtnut.com/l/_ihR6M51OK2Dy


C. 

D. none of these

Answer: C

Watch Video Solution

m3y = 2am2 − m2x + a

45. The tangents at the points

 on the parabola 

are at right angles if

A. -1

B. -2

(at2
1, 2at1), (at2

2, 2at2) y2 = 4ax

https://dl.doubtnut.com/l/_ihR6M51OK2Dy
https://dl.doubtnut.com/l/_qa3pCneXpRUa


C. -3

D. -4

Answer: D

Watch Video Solution

46. If the vertex of the parabola 

lies on x-axis, then the value of c, is

A. -16

B. -4

C. 4

y = x2 − 8x + c

https://dl.doubtnut.com/l/_qa3pCneXpRUa
https://dl.doubtnut.com/l/_OLwp9mUJz2OY


D. 16

Answer: D

Watch Video Solution

47. If the chord  subtends a right

angle at the vertex of the parabola ,

thenthe value of c is

A. 

B. 

C. 

y = mx + c

y2 = 4ax

−4am

4am

−2am

https://dl.doubtnut.com/l/_OLwp9mUJz2OY
https://dl.doubtnut.com/l/_zBokuKWgiZtd


D. 

Answer: A

Watch Video Solution

2am

48. The equation of the tangent at the vertex of

the parabola  is

A. x=-2

B. x=2

C. y=2

D. x=-a

x2 + 4x + 2y = 0,

https://dl.doubtnut.com/l/_zBokuKWgiZtd
https://dl.doubtnut.com/l/_Kc62ajr0HyEP


Answer: C

Watch Video Solution

49. The locus of the point of intersection of the

perpendicular tangents to the parabola 

is .

A. y=a

B. y=-a

C. x=a

D. x=-a

x2 = 4ay

https://dl.doubtnut.com/l/_Kc62ajr0HyEP
https://dl.doubtnut.com/l/_vrIs9ly40k5V


Answer: B

Watch Video Solution

50. If 
 is a tangent to the parabola 


 then find its distance from the parallel

normal.

A. 

B. 

C. 

D. 

y = 2x + 3

y2 = 24x,

5√5

10√5

15√5

3√5

https://dl.doubtnut.com/l/_vrIs9ly40k5V
https://dl.doubtnut.com/l/_KceRFKqO9FxY


Answer: C

Watch Video Solution

51. If the normal at(1, 2) on the parabola 

meets the parabola again at the point 

then the value of t, is

A. 1

B. 3

C. -3

D. -1

y2 = 4x

(t2, 2t)

https://dl.doubtnut.com/l/_KceRFKqO9FxY
https://dl.doubtnut.com/l/_mPFp0CgqcllW


Answer: C

Watch Video Solution

52. The normals at three points P,Q,R of the

parabola  meet in (h.k) . The centroid of 

 lies on

A. x = 0

B. y = 0

C. x = -a

D. y = a

y2 = 4ax

ΔPQR

https://dl.doubtnut.com/l/_mPFp0CgqcllW
https://dl.doubtnut.com/l/_3BwRtS0Uk1CG


Answer: B

Watch Video Solution

53. If the point P(4,-2) is one ends of the focal PQ of

, then the slope of the tangent at Q is

__________ .

A. 

B. 

C. 

D. 

y2 = x

−1/4

1/4

4

−4

https://dl.doubtnut.com/l/_3BwRtS0Uk1CG
https://dl.doubtnut.com/l/_tBq2Ky8x4hlg


Answer: C

Watch Video Solution

54. If 
 is a focal chord of the parabola 


such that 
, then the length of 

is
(a)6 (b) 4
(c) 3 (d)
none of these

A. 6

B. 4

C. 3

D. none of these

PSQ

y2 = 8x SP = 6 SQ

https://dl.doubtnut.com/l/_tBq2Ky8x4hlg
https://dl.doubtnut.com/l/_RFxo8Mc5mbnA


Answer: C

Watch Video Solution

55. The angle between the normals to the parabola

 at points (6, 12) and (6, -12), is

A. 

B. 

C. 

D. 

Answer: D

y2 = 24x

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_RFxo8Mc5mbnA
https://dl.doubtnut.com/l/_3QxPcGP2FXtV


Watch Video Solution

56. Find the equation of the common tangent of


and .

A. x+y+a=0

B. x+y-a=0

C. x-y+a=0

D. x-y-a=0

Answer: A

Watch Video Solution

y2 = 4ax x2 = 4ay

https://dl.doubtnut.com/l/_3QxPcGP2FXtV
https://dl.doubtnut.com/l/_8r9Xx3LrUmc6


57. The equation of the common tangent touching

the circle 
 and the parabola 


 above the x-axis is
 
 (b) 


 
 (d) 

A. 

B. 

C. 

D. sqrt3y=-3x-1`

Answer: C

Watch Video Solution

(x − 3)2 + y2 = 9

y2 = 4x √3y = 3x + 1

√3y = − (x + 3) √2y = x + 3

√3y = − (3x − 1)

√3y = 3x + 1

√3y = − x − 3

√3y = (x + 3)

https://dl.doubtnut.com/l/_5xl4x8teBkYO


58. The length of the subtangent to the parabola

 at the point whose abscissa is 4, is

A. 2

B. 4

C. 8

D. none of these

Answer: C

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_5xl4x8teBkYO
https://dl.doubtnut.com/l/_sMm1box3ECOm
https://dl.doubtnut.com/l/_VNF4f21ehwcH


59. if P is a point on parabola  such that

subtangents and subnormals at P are equal, then

the coordinates of P are:

A. (a, 2a) or (a, -2a)

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

(2a, 2√2a) or (2a, − 2√2a)

(4a, − 4a) or (4a, 4a)

https://dl.doubtnut.com/l/_VNF4f21ehwcH


60. The normal to the parabola  at the

point (2, 4) meets the parabola again at the point

A. (-18, -12)

B. (-28, 12)

C. (18, 12)

D. (18, -12)

Answer: D

Watch Video Solution

y2 = 8ax

https://dl.doubtnut.com/l/_GvDWfTEYt0Qy


61. The graph represented by

 is

A. a protion of a parabola

B. a part of a hyperbola

C. a part of a sing graph

D. a part of a circle

Answer: B

Watch Video Solution

x = sin2 t, y = 2 cos t

https://dl.doubtnut.com/l/_QWCCIDdgi93d


62. The subtangent, ordinate and subnormal to the

parabola  are in

A. AP

B. GP

C. HP

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_lVqUe92Plxtf


63. f the normal at the point  meets

the parabola  aguin at  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (at1, 2at1)

y2 = 4ax (at2, 2at2),

t1t2 = − 1

t1t2 = 1

t1t2 = 2

t2t2 = − 2

https://dl.doubtnut.com/l/_YnMoAdXdBIG7


64. The equation of the parabola whose vertex is

at(2, -1) and focus at(2, -3), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 4x − 8y − 12 = 0

x2 − 4x + 8y + 12 = 0

x2 + 8y = 12

x2 − 4x + 12 = 0

https://dl.doubtnut.com/l/_LJLviHjdg6PR


65. The ends of a line segment are

, R is a point on the line

segment PQ such that .If R is an

interior point of the parabola  then

A. (0, 1)

B. (-3/5, 1)

C. (1/2, 3/5)

D. none of these

Answer: A

Watch Video Solution

P (1, 3) and Q(1, 1)

PR :QR = 1: λ

y2 = 4x

https://dl.doubtnut.com/l/_mneSWjTLrc29


66. The vertex of the parabola

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 + 6x − 2y + 13 = 0

(1, − 1)

( − 2, 1)

(3/2, 1)

( − 7/2, 1)

https://dl.doubtnut.com/l/_oaidVpvY4Dqk


67. The Cartesian equation of the directrix of the

parabola whose parametrix equations are

, is

A. y = 2

B. y = 1

C. y = -1

D. y = -2

Answer: B

Watch Video Solution

x = 2t + 1, y = t2 + 2

https://dl.doubtnut.com/l/_lnFSuQCyVSzE
https://dl.doubtnut.com/l/_aJfZd6jspJgr


68. If the vertex of a parabola is (0, 2) and the

extremities of latusrectum are (-6, 4) and (6, 4)

then, its equation, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 4y + 8 = 0

x2 + 4y − 8 = 0

x2 − 8y + 16 = 0

x2 + 8y − 16 = 0

https://dl.doubtnut.com/l/_aJfZd6jspJgr


69. A line L passing through the focus of the

parabola  intersects the two

distinct point. If m be the slope of the line I,, then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(y − 2)2 = 4(x + 1)

min ( − ∞, − 1) ∪ (1, ∞)

m ∈ ( − ∞, 0) ∪ (0, ∞)

min ( − ∞, 0) ∪ (0, ∞)

https://dl.doubtnut.com/l/_mktOreduzDUj
https://dl.doubtnut.com/l/_wtRTl2ykHIG3


70. Let 
 be a parabola, having its axis

parallel to the y-axis, which is touched
 by the line


 at 
 Then,
 
 (b) 


 
 (d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = f(x)

y = x x = 1. 2f(0) = 1 − f ′ (0)

f(0) + f ′ (0) + f 0 = 1 f ′ (1) = 1

f ′ (0) = f ′ (1)

f' (0) = ' (1)

2f(0) = 1 − f' (0)

f' (1) = 1

f(0) + f' (0) + f' (0) = 1

https://dl.doubtnut.com/l/_wtRTl2ykHIG3


71. If two tangents drawn from the point 
to

the parabola 
 are such that the slope of

one tangent is double of the other, then
prove that

.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(α, β)

y2 = 4x

α = β22

9

9y = 2x2

9x = 2y2

2x = 9y2

https://dl.doubtnut.com/l/_ZnYBNLVNGFPA


72. The angle between the tangents drawn form

the point (3, 4) to the parabola ,

is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 − 2y + 4x = 0

tan− 1(8√5/7)

tan− 1(12/√5)

tan− 1(√5/7)

https://dl.doubtnut.com/l/_jnGjrM88tgIA
https://dl.doubtnut.com/l/_BCdzcDKdZQEp


73. set of values of m for which a chord of slope m

of the circle  touches parabola 

, may lie in intervel

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 4

y2 = 4x

⎛

⎝
− ∞, − √

⎞

⎠
∪
⎛

⎝
√ , ∞

⎞

⎠

√2 − 1

2

√2 − 1

2

( − ∞, − 1) ∪ (1, ∞)

( − 1, 1)

R

https://dl.doubtnut.com/l/_BCdzcDKdZQEp


74. The mid-point of the line joining the common

points of the line

 is

A. (3, 2)

B. (5, 6)

C. (4, -1)

D. (2, -3)

Answer: B

Watch Video Solution

2x − 3y + 8 = 0  and y2 = 8x,

https://dl.doubtnut.com/l/_pTGl5uYnoek6
https://dl.doubtnut.com/l/_glWLHhmS7acB


75. Tangents PQ and PR are drawn to the parabola

 and , respectively

such that . Then the locus of point P

is

A. x+10=0

B. x+30=0

C. x+40=0

D. none of these

Answer: D

Watch Video Solution

y2 = 20(x + 5) y2 = 60(x + 15)

∠RPQ =
π

2

https://dl.doubtnut.com/l/_glWLHhmS7acB
https://dl.doubtnut.com/l/_4bVhRUaR2wz4


76. PC is the normal at P to the parabola

 being on the axis. CP is produced

outwards to Q so that . The locus of Q is

a parabola which has focus

A. ellipse

B. parabola

C. hyperbola

D. ciacle

Answer: B

Watch Video Solution

y2 = 4ax, C

PQ = CP

https://dl.doubtnut.com/l/_4bVhRUaR2wz4
https://dl.doubtnut.com/l/_O4yeNL4I0VEW


77. From a fixed point A three normals are drawn to

the parabola  at the points P, Q and R.

Two circles  are drawn on AP and AQ

as diameter. If slope of the common chord of the

circles  be  and the slope of the

tangent to teh parabola at R be , then 

, is equal to

A. 

B. 

C. 

D. 

y2 = 4ax

C1  and C2

C1  and C2 m1

m2 m1 × m2

1

2

2

−
1

2

−2

https://dl.doubtnut.com/l/_O4yeNL4I0VEW


Answer: A

Watch Video Solution

78. The tangent to the parabola 
 has been

drawn so that the abscissa 
 of the point of

tangency belongs to the interval [1,2]. Find 
 for

which the triangle bounded by the tangent, the

axis of ordinates,
and the straight line 
has

the greatest area.

A. 0

B. 1

y = x2

x0

x0

y = x02

https://dl.doubtnut.com/l/_O4yeNL4I0VEW
https://dl.doubtnut.com/l/_tIuV8gGETr2o


C. 2

D. 

Answer: C

Watch Video Solution

3

2

79. A circle drawn on any focal AB of the parabola

 as diameter cute the parabola again at C

and D. If the parameters of the points A, B, C, D be

 respectively, then the value of 

, is

A. -1

y2 = 4ax

t1, t2, t3  and t4

t3, t4

https://dl.doubtnut.com/l/_tIuV8gGETr2o
https://dl.doubtnut.com/l/_8ZejAgV2VASP


B. 2

C. 3

D. none of these

Answer: C

Watch Video Solution

80. Let F be the focus of the parabola 

and M be the foot of perpendicular form point

 on the tangent at the vertex. If N is a

point on the tangent at P, then 

y2 = 4ax

P(at2, 2at)

equals
MN

FN

https://dl.doubtnut.com/l/_8ZejAgV2VASP
https://dl.doubtnut.com/l/_KeYyzoCN029N


A. 

B. 

C. 1

D. none of these

Answer: A

Watch Video Solution

t2

t2 + 1

t2 + 1

t2

81. The focus of a parabola is (0, 0) and vertex (1, 1).

If two mutually perpendicular tangents can be

drawn to a parabola from the circle

,then(x − 2)2 + (y − 3)2 = r2

https://dl.doubtnut.com/l/_KeYyzoCN029N
https://dl.doubtnut.com/l/_y1q98UrDRO17


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|r| >
1

√2

r >
1

√2

r =
1

√2

|r| <
1

√2

82. The point P on the parabola  for

which | PR-PQ | is maximum, where R(-a, 0) and Q (0,

a) are two points,

y2 = 4ax

https://dl.doubtnut.com/l/_y1q98UrDRO17
https://dl.doubtnut.com/l/_nzisb0XJP90E


Chapter Test

A. (a, 2a)

B. (a, -2a)

C. (4a, 4a)

D. (4a, -4a)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nzisb0XJP90E


1. If  is a tangent to the curve ,

then k is equal to

A. 4

B. 43467

C. -4

D. 

Answer: C

Watch Video Solution

y = 2x + k x2 = 4y

−1/2

https://dl.doubtnut.com/l/_rd32KBGiS8uH


2. The normal drawn at a point 
 of

the parabola 
meets it again in the point 


 then 
 (b) 


(d) 

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(at12, − 2at1)

y2 = 4ax

(at22, 2at2), t2 = t1 +
2

t1
t2 = t1 −

2

t1

t2 = − t1 +
2

t1
t2 = − t1 −

2

t1

t1 = 2t2

t2
1 = 2t2

t1t2 = 1

https://dl.doubtnut.com/l/_vxWXjR6HyWul


3. The mid-point of the chord  of

the parabola  is

A. (5/2, -1)

B. (-1, 5/2)

C. (3/2, -1)

D. none of these

Answer: A

Watch Video Solution

2x + y − 4 = 0

y2 = 4x

https://dl.doubtnut.com/l/_OPCiueAz4Adc


4. The two ends of latusrectum of a parabola are

the points (3, 6) and (-5, 6). The focus, is

A. (1, 6)

B. (-1, 6)

C. (1, -6)

D. (-1, -6)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2k1sS36xSAev


5. Prove that the locus of the middle points of all

chords of the parabola  passing through

the vertex is the parabola .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y2 = 2ax

y2 = 8x

y2 = 2x

x2 + 4y2 = 16

x2 = 2y

https://dl.doubtnut.com/l/_r1IBJJQUhreJ
https://dl.doubtnut.com/l/_SgDVutkdQ4Im


6. The focus of the parabola 

is

A. (4, 7/2)

B. (4, 9/2)

C. (9/2, 4)

D. (1, 0)

Answer: B

Watch Video Solution

x2 − 8x + 2y + 7 = 0

https://dl.doubtnut.com/l/_SgDVutkdQ4Im


7. The point of contact of the line x-2y-1=0 with the

parabola , is

A. (5, 2)

B. (5, -2)

C. (2, 5)

D. (5, 3)

Answer: A

Watch Video Solution

y2 = 2(x − 3)

https://dl.doubtnut.com/l/_NoW7IZ61MQfn


8. Find the number of distinct normals that can be

drawn from 
 to the parabola 

A. 3

B. 2

C. 1

D. 4

Answer: A

Watch Video Solution

( − 2, 1)

y2 − 4x − 2y − 3 = 0

https://dl.doubtnut.com/l/_o9UXdVToQ23A
https://dl.doubtnut.com/l/_yr9MGtWvxD7W


9. At what point on the parabola 
 the

normal makes equal angle with the axes?
 
 (b) 


(d) 
(d) 

A. (4, 4)

B. (9, 6)

C. (4, -4)

D. (1, -2)

Answer: D

Watch Video Solution

y2 = 4x

(4, 4)

(9, 6) (4, − 4) (1, ± 2)

https://dl.doubtnut.com/l/_yr9MGtWvxD7W


10. Three normals to the parabola  are

drawn through a point  then C=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = x

(C, O)

c = 1/4

c = 1/2

c > 1/2

https://dl.doubtnut.com/l/_TuOS7reORVtu


11. The normal chord of a parabola  at the

point  subtends a right angle at the

A. focus

B. vertex

C. end of the latusrectum

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

P (x1, x1)

https://dl.doubtnut.com/l/_nWKYNxnkv8ht


12. AB, AC are tangents to a parabola

 are the lengths of the

perpendiculars from A, B, C on any tangents to the

curve, then  are in:

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax; p1, p2, p3

p2, p1, p3

https://dl.doubtnut.com/l/_I23r009q4ZXT


13. The circles on the focal radii of a parabola as

diameter touch:
A) the tangent at the vertex
B) the

axis
C) the directrix
D) latus rectum

A. the tangent at the vertex

B. the axis

C. the directrix

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PXkcNyOR1J9o
https://dl.doubtnut.com/l/_CPFioNFeC9aa


14. If the normals from any point to the parabola


 cut the line 
 at points whose

ordinates are in AP, then prove that the slopes of

tangents at the co-normal
points are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

y2 = 4x x = 2

https://dl.doubtnut.com/l/_CPFioNFeC9aa
https://dl.doubtnut.com/l/_bxuUdwAqjSS1


15. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(p/2, ± p)

(p, p/2)

( − p/2, p)

( − p/2, − p)

16. The equation of the tangent to the parabola

 which is perpendicular to the line y2 = 8x

https://dl.doubtnut.com/l/_bxuUdwAqjSS1
https://dl.doubtnut.com/l/_PuBfDrqvDzHa


, is

Watch Video Solution

x − 3y + 8 = 0

17. the tangent drawn at any point  to the

parabola  meets the directrix at the point

 Then the angle which  subtends at the

focus is

A. 

B. 

C. 

D. 

P

y2 = 4ax

K. KP

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_PuBfDrqvDzHa
https://dl.doubtnut.com/l/_MMlM3WLhMAE3


Answer: D

Watch Video Solution

18. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1(t2)

cot − 1)(t2)

tan− 1(t)

cot − 1(t)

https://dl.doubtnut.com/l/_MMlM3WLhMAE3
https://dl.doubtnut.com/l/_agNCtgVuR8yi


19. The parabola  passes through the

point . Find the length of its latus rectum.

A. 18

B. 9

C. 6

D. 16

Answer: A

Watch Video Solution

y2 = 4ax

(2, − 6)

https://dl.doubtnut.com/l/_agNCtgVuR8yi
https://dl.doubtnut.com/l/_WFDu1dogmSao
https://dl.doubtnut.com/l/_Gcr24BCdi1x3


20. A variable circle passes through the fixed point

(2, 0) and touches y-axis Then, the locus of its

centre, is

A. a parabola

B. a circle

C. an ellipse

D. a hyperbola

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Gcr24BCdi1x3


21. The locus of the middle points of the focal

chords of the parabola,  is:

A. the axis

B. a focal chord

C. the parabola

D. the tangent at the vertex

Answer: C

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_fnG7NgwOtMsz


22. If the lsope of the focal chord of  is 2,

then the length of the chord, is

A. 22

B. 24

C. 20

D. 18

Answer: C

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_GwlcvwCuwblW


23. If x-2y-a=0 is a chord of the parabola ,

then its langth, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

4a√5

40a

20a

15a

https://dl.doubtnut.com/l/_pl6t5hiO6HHW


24. Equation of normal to the parabola 

which passes through (3, 0), is

A. x+y=3

B. x+y+3=0

C. x-2y=3

D. none of these

Answer: A

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_5fwANbEVVqQ7


25. Find the length of normal chord which

subtends an angle of 
 at the vertex of the

parabola 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

900

y2 = 4x.

6√3

3√3

2

1

https://dl.doubtnut.com/l/_mTWjlIe9Tx3O
https://dl.doubtnut.com/l/_p612g0Yp4zTy


26. At what point on the parabola 
 the

normal makes equal angle with the axes?
 
 (b) 


(d) 
(d) 

A. (4, 4)

B. (9, 0)

C. (4, -4)

D. (1, -2)

Answer: D

Watch Video Solution

y2 = 4x

(4, 4)

(9, 6) (4, − 4) (1, ± 2)

https://dl.doubtnut.com/l/_p612g0Yp4zTy


27. The circles on focal radii of a parabola as

diameter touch

A. axis

B. directrix

C. tangent at the vertex

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6LDWY61q0Jmr


28. Tangents are drawn at the ends of any focal

chord of the parabola . Then which of the

following statements about the point of

intersection of tangents is true.

A. its abscissa is independent of the extremities

of the focal chord

B. its ordinate is independent of the extremities

of the focal chord

C. it is at a distance of 8 units from the vertex

of the parabola

y2 = 16x

https://dl.doubtnut.com/l/_BwOW4qnY7Hx6


D. It is at a distance of 16 units from the focus

of the parabola

Answer: A

Watch Video Solution

29. The angle between the pair of tangents drawn

form (1, 3) to the parabola , is

A. 

B. 

C. 

y2 = 8x

tan− 1 2

tan− 1 1
2

tan− 1 1
3

https://dl.doubtnut.com/l/_BwOW4qnY7Hx6
https://dl.doubtnut.com/l/_6czIgjdDthyF


D. 

Answer: C

Watch Video Solution

tan− 1 3

30. A variable tangent to the parabola 

meets the parabola  P and Q. The

locus of the mid-point of PQ, is

A. 

B. 

C. 

y2 = 4ax

y2 = − 4ax

y2 = − 2ax

y2 = − ax

y2 = − ax
4
3

https://dl.doubtnut.com/l/_6czIgjdDthyF
https://dl.doubtnut.com/l/_1PclEzc4NwAA


D. 

Answer: C

Watch Video Solution

y2 = − 4ax

https://dl.doubtnut.com/l/_1PclEzc4NwAA

